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PARABOLA

Examples

1. The equation to the parabola having focus (1,2) qbe and

directrix x + 2y+5=0 is

A. 

B. 

C. 

4x2 − 4xy + y2 − 20x − 40y = 0

9x2 − 24xy + 16y2 − 76x + 18y + 91 = 0

x2 + 6xy + 9y228x − 16y + 46 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_o6FBFpg67EtS


D. 

Answer: A

Watch Video Solution

x2 + 4xy + 4y2 − 50x + 30y + 40 = 0

2. The length of the latus rectum of the parabola

.

A. 2

B. 1

C. 8

D. 3

Answer: C

y2 + 8x − 4y − 4 = 0

https://dl.doubtnut.com/l/_o6FBFpg67EtS
https://dl.doubtnut.com/l/_nrfNmn4Key6t


Watch Video Solution

3. The equation of the directrix of the parabola

 is

A. x-2=0

B. y+3=0

C. y-1=0

D. x+2=0

Answer: C

Watch Video Solution

x2 − 4x + 16y + 52 = 0

https://dl.doubtnut.com/l/_nrfNmn4Key6t
https://dl.doubtnut.com/l/_FL5qGcUmahPQ


4. The point of contact of x-y+2=0 to the parabola 

is

A. (2,4)

B. (-2,4)

C. (2,-4)

D. (-2,-4)

Answer: A

Watch Video Solution

y2 = 8x

5. The equation of the common tangent to 

and  is

x2 + y2 = 18

y2 = 24x

https://dl.doubtnut.com/l/_MsYCP00vD7re
https://dl.doubtnut.com/l/_H9MbOq9H2W8M


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = ± (x + 3)

y = ± (x + 6)

y = ± (x + 9)

y = ± (x + 2)

6. An equilateral is inscribed in the parabola  with

one of its vertices is the vertex of the parabola. Then the

length of the side of that triangle is

A. 

B. 

y2 = 8x

2√3

4√3

https://dl.doubtnut.com/l/_H9MbOq9H2W8M
https://dl.doubtnut.com/l/_dHhVF9BBfuI9


C. 

D. 

Answer: D

Watch Video Solution

8√3

16√3

7. If ((1)/(2),2) is one extermity of a focalchord of the

parabola  Find the co-ordinates of the other

extremity.

A. (8,8)

B. (-8,8)

C. (8,-8)

D. (-8,-8)

y2 = 8x.

https://dl.doubtnut.com/l/_dHhVF9BBfuI9
https://dl.doubtnut.com/l/_EAUEk7ivjkcu


Answer: C

Watch Video Solution

8. The line y = 2x-12 is a normal to the parabola  = 4x at

the point P whose coordinates are

A. (4,-4)

B. (-2,-2)

C. (3,1)

D. (0,-4)

Answer: A

Watch Video Solution

y2

https://dl.doubtnut.com/l/_EAUEk7ivjkcu
https://dl.doubtnut.com/l/_TvHBPsPM0GFi


9. The length of the chord of the parabola  are ends

of the chord Mid point (2,1) is

A. 3

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = x

√14

√6

2√5

10. The dimeter of the parabola  corresponding to

the system of parallel chords 3x-y+c-0 is

y2 = 6x

https://dl.doubtnut.com/l/_ZeMKjLfdexp9
https://dl.doubtnut.com/l/_Ylskl347gls7


A. y-1=0

B. y-2=0

C. y+1=0

D. y+2=0

Answer: A

Watch Video Solution

11. If the tangent at to the parabola = ax

intersects X-axis at A and the normal at P meets it at B then

area of triangle PAB is

A. 

B. 

P(at2, 2at) y2

4a2|t|√1 + r2

2a2|t|(1 + r2)

https://dl.doubtnut.com/l/_Ylskl347gls7
https://dl.doubtnut.com/l/_mETKVYajrHRv


Exercise 1 A

C. 

D. 

Answer: B

View Text Solution

4a2|t|(1 + t2)

2a2(1 + t2)

|t|

1. The parabola with directrix x+2y-1=0 and focus (1,0) is

A. 

B. 

C. 

D. 

4x2 − 4xy + y2 − 8x + 4y + 4 = 0

4x2 + 4xy + y2 − 8x + 4y + 4 = 0

4x2 + 4xy + y2 + 8x − 4y + 4 = 0

4x2 − 4xy + y2 − 8x − 4y + 4 = 0

https://dl.doubtnut.com/l/_mETKVYajrHRv
https://dl.doubtnut.com/l/_Vk5n13jwywaB


Answer: A

Watch Video Solution

2. The equation of the parabola with focus (1,-1) and

directrix x+y+3=0 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 10x − 2y − 2xy − 5 = 0

x2 + y2 + 10x − 2y − 2xy − 5 = 0

x2 + y2 + 10x + 2y − 2xy − 5 = 0

x2 + y2 + 10x + 2y + 2xy − 5 = 0

https://dl.doubtnut.com/l/_Vk5n13jwywaB
https://dl.doubtnut.com/l/_F9vclH4l3gMk


3. The equation to the parabola having focus 

and directrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 1, − 1)

2x − 3y + 6 = 0

x2 − 2xy + y2 − 18x − 10y − 45 = 0

9x2 + 12xy + 4y2 + 2x + 62y − 10 = 0

x2 + 6xy + 9xy + 9y2 + 28x − 16y + 46 = 0

x2 + 4xy + 4y2 − 50x + 30y + 40 = 0

4. The equation of the parabola whose vertex is origin axis

along x-axis and which passes through the point (-2,4) is

https://dl.doubtnut.com/l/_39saQTkaffDP
https://dl.doubtnut.com/l/_MtlRu7jR4rXu


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = − 8x

x2 = 4y

y2 = 8x

y2 = − 12x

5. The equation of the parabola whose vertex is origin axis

is along y-axis and which passes through the point (2,1) is

A. 

B. 

C. 

y2 = − 8x

x2 = 4y

y2 = 8x

https://dl.doubtnut.com/l/_MtlRu7jR4rXu
https://dl.doubtnut.com/l/_MGnR1JPtF3q7


D. 

Answer: B

Watch Video Solution

y2 = − 12x

6. The equation of the parabola whose vertex is (3,-2) axis is

parallel to x-axis and latus rectum 4 is

A. 

B. 

C. 

D. 

Answer: A

(y + 2)2 = ± 4(x − 3)

(x + 2)2 = ± 6(y − 1)

(y − 1)2 = 16(x + 2)

(y − 2)2 = − 8(x − 5)

https://dl.doubtnut.com/l/_MGnR1JPtF3q7
https://dl.doubtnut.com/l/_7xzULB2bdGbN


Watch Video Solution

7. The equation of the parabola having focus  , and

vertex  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(2, 1)

( − 2, 1)

(y + 2)2 = ± 4(x − 3)

(x + 2)2 = ± 6(y − 1)

(y − 1)2 = 16(x + 2)

(y − 2)2 = − 8(x − 5)

https://dl.doubtnut.com/l/_7xzULB2bdGbN
https://dl.doubtnut.com/l/_6CQ2GKfLRkfp


8. The equation of the parabola whose vertex is at (0,0) and

focus is the point of intersection of x+y=2,2x-y=4 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 2x

y2 = 4x

y2 = 8x

x2 = 8y

9. The equation of parabola whose vertex and focus are on

x-axis at distances a and a' respectively from the origin is

https://dl.doubtnut.com/l/_ji7MFqXyzTKQ
https://dl.doubtnut.com/l/_XptfHuFwgKYn


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 4(a' + a)(x − a)

y2 = 4(a' − a)(x + a)

y2 = 4(a' + a)(x + a)

y2 = 4(a' − a)(x − a)

10. Find the equation of the parabola whose axis is parallel

to X-axis and which passes through these points. 

(-2,1),(1,2), and (-1,3)

A. 

B. 

5y2 + 2x − 21y + 20 = 0

15y2 + 12x − 11y + 10 = 0

https://dl.doubtnut.com/l/_XptfHuFwgKYn
https://dl.doubtnut.com/l/_MbMcmTNxO4Sl


C. 

D. 

Answer: A

Watch Video Solution

18y2 − 12x + 21y + 56 = 0

25y2 − 2x − 65y + 120 = 0

11. Find the equation of the parabola whose axis is parallel

to Y-axis and which passes through the points (4,5),(-2,11)

and (-4,21).

A. 

B. 

C. 

D. 

x2 − 4x − 2y + 10 = 0

x2 − 2x − y + 5 = 0

x3 − 4x − 2y + 10 = 0

y2 − 2x − 3y + 4 = 0

https://dl.doubtnut.com/l/_MbMcmTNxO4Sl
https://dl.doubtnut.com/l/_fRIng4JOat1v


Answer: A

Watch Video Solution

12. The equation of parabola whose latus rectum is the line

segment joining the points (-3,1) , (1,1) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x + 1)2 = 4y

(x − 1)2 = 4y

(x + 1)2 = 2y

(x − 1)2 = 2y

https://dl.doubtnut.com/l/_fRIng4JOat1v
https://dl.doubtnut.com/l/_D0bVPg6rXlrO


13. The equation of the parabola with latusrectum joining

the points (6,7) and (6,-1) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(y − 3)3 = 8(x − 4)

(y + 3)2 = 8(x + 4)

(y − 3)2 = − 8(x − 8)

y2 = 4ax

14. The vertex of a parabola is the point (a,b) and

latusrectum is of length 1. If the axis of the parabola is

along the positive direction of y-axis then its equation is

https://dl.doubtnut.com/l/_NzGQX0bBzwb0
https://dl.doubtnut.com/l/_ZoJkfB9FTGoD


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x + a)2 = (2y − 2b)
1

2

(x − a)2 = (2y − 2b)
l

2

(x + a)2 = (2y − 2b)
l

4

(x − a)2 = (2y − 2b)
l

2

15. The equation of the parabola having the vertex (-1,-2)

and whose axis is vertical and which passes through (3,6) is

A. 

B. 

C. 

x2 + 2x − 2y − 3 = 0

x2 + 4x + 8y − 13 = 0

y2 + 4y − 16x − 12 = 0

https://dl.doubtnut.com/l/_ZoJkfB9FTGoD
https://dl.doubtnut.com/l/_l4fCFLxoxF2R


D. none

Answer: A

Watch Video Solution

16. The focus of a parabola is (2,3) and the foot of the

perpendicular from the focus to the directrix is (4,5) . The

equation to the parabola is .

A. 

B. 

C. 

D. none

(x − 2)2 + (y − 3)2 = (1/2)(x − y + 9)2

(x − 2)2 + (y − 3)2 = (1/2)(x + y + 9)2

(x − 2)2 + (y − 3)2 = (1/2)(x + y − 9)2

https://dl.doubtnut.com/l/_l4fCFLxoxF2R
https://dl.doubtnut.com/l/_JiEUF8iV4Ksk


Answer: D

Watch Video Solution

17. The vertex of the parabola  is

A. 

B. (-3,1)

C. (-3/2,3)

D. (-1/2,1)

Answer: D

Watch Video Solution

y2 + 4x − 2y + 3 = 0

( − 3, 1)

https://dl.doubtnut.com/l/_JiEUF8iV4Ksk
https://dl.doubtnut.com/l/_GpTxShAD7tuo


18. The vertex of the parabola  is

A. (-4,1)

B. (4,-1)

C. (-4,-1)

D. (4,1)

Answer: A

Watch Video Solution

x2 + 8x + 12y + 4 = 0

19. The vertex of the parabola  is

A. (6,-4)

B. (-6,4)

x2 + 12x − 9y = 0

https://dl.doubtnut.com/l/_eZwoDBmVRE8j
https://dl.doubtnut.com/l/_qGYYmumjXa9o


C. (6,4)

D. (-6,-4)

Answer: D

Watch Video Solution

20. A parabola has the origin as its focus and the line x=2 as

the directrix . Then the vertex of the parabola is at

A. (1,0)

B. 

C. (2,0)

D. (0,2)

(0, 1)

https://dl.doubtnut.com/l/_qGYYmumjXa9o
https://dl.doubtnut.com/l/_UI5rfS6CaZPS


Answer: A

Watch Video Solution

21. If the focus is (1,-1) and the directrix is the line x+2y-9=0,

the vertex of the parabola is

A. (1,2)

B. (2,1)

C. (1,-2)

D. (2,-1)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_UI5rfS6CaZPS
https://dl.doubtnut.com/l/_dzC6EOpFQ1LC


22. The locus of the vertices of the family of parabolas

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = + − 2a
a3x2

3

a2x

2

xy =
35

16

xy =
64
105

xy =
105

64

xy =
3

4

23. The focus of the parabola  is

A. (1/4,0)

y2 − x − 2y + 2 = 0

https://dl.doubtnut.com/l/_uLIAMlPJzf1y
https://dl.doubtnut.com/l/_Cc5jJR11Jomb


B. (1,2)

C. (3/4,0)

D. (5/4,1)

Answer: D

Watch Video Solution

24. The focus of the parabola  is

A. (1,1)

B. (1,2)

C. (2,0)

D. (2,2)

y2 − 4y − 8x − 4 = 0

https://dl.doubtnut.com/l/_Cc5jJR11Jomb
https://dl.doubtnut.com/l/_dT6lUoGUfNt0


Answer: B

Watch Video Solution

25. The focus of the parabola  is

A. (1,1)

B. (1,-1)

C. (-1,1)

D. (-1,-1)

Answer: B

Watch Video Solution

x2 − 2x − 8y − 23 = 0

https://dl.doubtnut.com/l/_dT6lUoGUfNt0
https://dl.doubtnut.com/l/_HMFoPh5ll5lJ


26. The distance between the vertex and the focus of the

parabola  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 2x + 3y − 2 = 0

4
5

3

4

1

2

5

6

27. The two ends of latusrectum of a parabola are the

points (3,6) and (-5,6) . The focus is

https://dl.doubtnut.com/l/_cbpoZKxEz6yo
https://dl.doubtnut.com/l/_SIaK2ZnHNJTx


A. (1,6)

B. (-1,6)

C. (1,-6)

D. (-1,-6)

Answer: B

Watch Video Solution

28. If (2,0) is the vertex and y-axis is the directrix of a

parabola then its focus is

A. 

B. (4,0)

C. (-2,0)

( − 4, 0)

https://dl.doubtnut.com/l/_SIaK2ZnHNJTx
https://dl.doubtnut.com/l/_IIWDLChBQ8oh


D. (2,0)

Answer: B

Watch Video Solution

29. The length of the latus rectum of the parabola

 is

A. 2

B. 4

C. 8

D. 16

Answer: C

y2 + 8x − 2y + 17 = 0

https://dl.doubtnut.com/l/_IIWDLChBQ8oh
https://dl.doubtnut.com/l/_g49H4ATapgPA


Watch Video Solution

30. The length of the latus rectum of the parabola

 is

A. 2

B. 1

C. 8

D. 3

Answer: D

Watch Video Solution

4y2 + 12x − 20y + 67 = 0

https://dl.doubtnut.com/l/_g49H4ATapgPA
https://dl.doubtnut.com/l/_1lFkvEqYJBef


31. The length of the latus rectum of the parabola

 is

A. 16

B. 4

C. 2

D. 8

Answer: D

Watch Video Solution

x2 − 4x + 8y + 28 = 0

32. The length of the latus rectum of the parabola

 is3x2 − 9x + 5y − 2 = 0

https://dl.doubtnut.com/l/_buyyjj2mWSNL
https://dl.doubtnut.com/l/_zK5mbDW95lKe


A. 5

B. 4

C. 16

D. 

Answer: D

Watch Video Solution

5/3

33. The point (3,4) is the focus and 2x-3y+5=0 is the directrix

of a parabola . Its latusrectum is

A. 

B. 

C. 

2

√13

4

√13

1

√13

https://dl.doubtnut.com/l/_zK5mbDW95lKe
https://dl.doubtnut.com/l/_m5QAu5kYu12y


D. 

Answer: A

Watch Video Solution

3

√13

34. The length of the latusrectum of the parabola whose

focus is 

A. 

B. 

C. 

D. 

Answer: D

( sin 2α, − cos 2α)
μ2

2g

μ2

2g

cos2α
μ2

g

cos2α
μ2

g

cos2α
2μ2

g

cos2α
2μ2

g

https://dl.doubtnut.com/l/_m5QAu5kYu12y
https://dl.doubtnut.com/l/_bkQwUGsq5awM


Watch Video Solution

35. Latus rectum of the parabola whose axis is parallel to

the y-axis and which passes through the points (0,4), (1,9)

and (-2,6) is equal to

A. 2

B. 1

C. 

D. 

Answer: C

View Text Solution

1/2

1/4

https://dl.doubtnut.com/l/_bkQwUGsq5awM
https://dl.doubtnut.com/l/_o7ufTMRJSNKr
https://dl.doubtnut.com/l/_5MGvO7EFVNyu


36. The point (3,4) is the focus and 2x-3y+5=0 is the directrix

of a parabola . Its latusrectum is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

2/√13

4/√13

1/√13

37. If the parabola  passes through (-3,2) then the

length of its latusrectum is

A. 

y2 = 4ax

2/3

https://dl.doubtnut.com/l/_5MGvO7EFVNyu
https://dl.doubtnut.com/l/_Ect84Pzvn69i


B. 

C. 

D. 4

Answer: C

Watch Video Solution

1/3

4/3

38. If the straight line y=mx+c is parallel to the axis of the

parabola  and intersects the parabola at 

then the length of the latus rectum is

A. 2

B. 3

C. 4

y2 = lx ( , c)
c2

8

https://dl.doubtnut.com/l/_Ect84Pzvn69i
https://dl.doubtnut.com/l/_payhhghILE6R


D. 8

Answer: D

Watch Video Solution

39. The ends of the latus rectum of the parabola

 are

A. (2,7),(3,-7)

B. (0,5),(0,-5)

C. (0,7),(0,-5)

D. (5,-5/2),(-1,-5/2)

Answer: D

(x − 2)2 = − 6(y + 1)

https://dl.doubtnut.com/l/_payhhghILE6R
https://dl.doubtnut.com/l/_R7F2fKn68uwF


Watch Video Solution

40. The equation of the latus rectum of the parabola

 is

A. y=4

B. x=4

C. x+3=0

D. x+y=0

Answer: C

Watch Video Solution

(y − 2)2 = − 4(x + 2)

https://dl.doubtnut.com/l/_R7F2fKn68uwF
https://dl.doubtnut.com/l/_MXaYKdJLvPDP


41. The equation of the directrix to the parabola

 is

A. 2x+15=0

B. x+5=0

C. 2x+3=0

D. x+2=0

Answer: A

Watch Video Solution

y2 − 2x − 6y − 5 = 0

42. The equation of the directrix of the parabola

 isy2 + 4y + 4x + 2 = 0

https://dl.doubtnut.com/l/_SrxZeymFJpYv
https://dl.doubtnut.com/l/_zoUcZOtAxMs9


A. 

B. x=1

C. x=-3/2

D. x=3/2

Answer: D

Watch Video Solution

x = − 1

43. The parabola  passes through

point (1,-2). The equaiton of its directrix is

A. 4x+1=0

B. 4x-1=0

C. 4x+9=0

(y + 1)2 = a(x − 2)

https://dl.doubtnut.com/l/_zoUcZOtAxMs9
https://dl.doubtnut.com/l/_PrTMlUj2vbD1


D. 4x-9=0

Answer: D

Watch Video Solution

44. The equation of the directrix of the parabola

 is

A. 2y-13=0

B. 2x+5a=0

C. 2x+25=0

D. 2x-13=0

Answer: B

y2 − 4ay − 2ax = 0

https://dl.doubtnut.com/l/_PrTMlUj2vbD1
https://dl.doubtnut.com/l/_MkupRjuwbITo


Watch Video Solution

45. The equation of the latus rectum of the parabola

 is

A. x=4

B. y=4

C. x=6

D. y=2

Answer: B

Watch Video Solution

x2 − 12x − 8y + 52 = 0

https://dl.doubtnut.com/l/_MkupRjuwbITo
https://dl.doubtnut.com/l/_XnypinSLPTkH


46. The equation of the directrix of the parabola

 is

A. 4y+9=0

B. y+4=0

C. y-3=0

D. 6y-13=0

Answer: D

Watch Video Solution

3x2 − 9x + 5y − 2 = 0

47. The equation of the directrix of the parabola whose

vertex (3,2) and focus (2,-1) is

https://dl.doubtnut.com/l/_vSgYY0VKORbG
https://dl.doubtnut.com/l/_EVOvt2XfKLvP


A. x+3y-19=0

B. y-2y-9=0

C. 2x+6y-24=0

D. x-3y-19=0

Answer: A

Watch Video Solution

48. The equation of the axis of the parabola

 is

A. x-5=0

B. y+3=0

C. 2x-1=0

(y + 3)2 = 4(x − 2)

https://dl.doubtnut.com/l/_EVOvt2XfKLvP
https://dl.doubtnut.com/l/_AFQoxMbe0FpL


D. y-1=0

Answer: B

Watch Video Solution

49. Axis of the parabola  is

A. x=-3

B. y=-1

C. x=3

D. y=1

Answer: C

Watch Video Solution

x2 − 3y − 6x + 6 = 0

https://dl.doubtnut.com/l/_AFQoxMbe0FpL
https://dl.doubtnut.com/l/_m8k8f8kkKHpy


50. The equation of the axis of the parabola

 is

A. x-2=0

B. x-1=0

C. x-3=0

D. 2x-3=0

Answer: D

Watch Video Solution

3x2 − 9x + 5y − 2 = 0

51. The parabola y=  is symmetrical about the

line

px2 + px + q

https://dl.doubtnut.com/l/_m8k8f8kkKHpy
https://dl.doubtnut.com/l/_Ib6M0e0zlOjQ
https://dl.doubtnut.com/l/_xMpdcYq2lIt4


A. x=q

B. x=p

C. 2x=1

D. 2x+1=0

Answer: D

Watch Video Solution

52. The focal distance of the point  on the parabola 

 is

A. 4

B. 8

C. 10

(9, 6)

y2 = 4x

https://dl.doubtnut.com/l/_xMpdcYq2lIt4
https://dl.doubtnut.com/l/_gfO81r71oRiq


D. 16

Answer: C

Watch Video Solution

53. The focal distance of the point (4,2) on the parabola

 is

A. 10

B. 4

C. 15

D. 12

Answer: B

x2 = 8y

https://dl.doubtnut.com/l/_gfO81r71oRiq
https://dl.doubtnut.com/l/_4dWVP1kRxhFR


Watch Video Solution

54. the eccentricity of the parabola 

is

A. 0

B. 1

C. 1/2

D. 2

Answer: B

Watch Video Solution

y2 − 2x − 6y + 5 = 0

https://dl.doubtnut.com/l/_4dWVP1kRxhFR
https://dl.doubtnut.com/l/_4ei4EkbSUOl0


55. If the vertex of the parabola y  lies on x-

axis then the value of c is

A. 

B. 

C. 4

D. 16

Answer: D

Watch Video Solution

= x2 − 8x + c

−16

−4

56. If the ordinate of a point on the parabola =4x is twic

the latus rectum then the point is

y2

https://dl.doubtnut.com/l/_ZWsRohge2DkE
https://dl.doubtnut.com/l/_GQoUYqmS0IgD


A. (16,8)

B. (16,-8)

C. 

D. 

Answer: A

Watch Video Solution

( − 16, 8)

( − 16, − 8)

57. In the parabola  the length of

double ordinate at a distance of 3 from its vertex is

A. 

B. 

C. 

y2 − 2y + 8x − 23 = 0

4√6

2√6

√6

https://dl.doubtnut.com/l/_GQoUYqmS0IgD
https://dl.doubtnut.com/l/_etPKII0tWIJ1


D. none

Answer: A

Watch Video Solution

58. For a parabola the distance between the focus and the

directrix is equal to

A. a

B. 4a

C. semilatus

D. none

Answer: C

https://dl.doubtnut.com/l/_etPKII0tWIJ1
https://dl.doubtnut.com/l/_cOi132XbLWSa


Watch Video Solution

59. If (9,12) is one end of a double ordinate of the parabola

 then its equation is

A. x+9=0

B. y+9=0

C. y-9=0

D. x-9=0

Answer: D

Watch Video Solution

y2 = 16x

https://dl.doubtnut.com/l/_cOi132XbLWSa
https://dl.doubtnut.com/l/_8OdLJCTxA8LL


60. The focal distance of a point on the parabola 

whose focal distance is 10.Its coordinates are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 8x

(2, ± 2)

(3, ± 3)

(5, ± 5)

(8, ± 8)

61. The coordinates of the parabola  whose focal

distance is 5/2 are

y2 = 2x

https://dl.doubtnut.com/l/_vQmF8PVrW7BC
https://dl.doubtnut.com/l/_nRi3yTkNsJF5


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2, ± 2)

(3, ± 3)

(5, ± 5)

(8, ± 8)

62. The point on the parabola  whose ordinate is

three times its abscissa is

A. (4,12)

B. 

C. 

y2 = 36x

( − 4, 12)

(4, − 12)

https://dl.doubtnut.com/l/_nRi3yTkNsJF5
https://dl.doubtnut.com/l/_Ukz6PJH0YZsW


D. 

Answer: A

Watch Video Solution

( − 4, − 12)

63. An equilateral is inscribed in the parabola  with

one of its vertices is the vertex of the parabola. Then the

length of the side of that triangle is

A. 

B. 

C. 

D. 

y2 = 8x

24√3

16√3

8√3

4√3

https://dl.doubtnut.com/l/_Ukz6PJH0YZsW
https://dl.doubtnut.com/l/_oNUebs5yhFiu


Answer: B

Watch Video Solution

64. If Q is the foot of the perpendicular from a point p on

the parabola  to its directrix. S is an

equilateral triangle then find the lengh of side of the

triangle.

A. 

B. 

C. 

D. 

Answer: C

y2 = 8(x − 3)

(4√3, 8)

(8, 4√3)

(9, 4√3)

(4√3, 9)

https://dl.doubtnut.com/l/_oNUebs5yhFiu
https://dl.doubtnut.com/l/_WJ9yv9XE7QRf


Watch Video Solution

65. L and L are the ends of the latus rectum of the parabola

 The equation of OL and OL where O is the origin

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 = 6y.

x2 + 4y2 = 0

x2 − 4y2 = 0

x2 + 2y2 = 0

x2 − 2y2 = 0

https://dl.doubtnut.com/l/_WJ9yv9XE7QRf
https://dl.doubtnut.com/l/_Wq0rFq0fsH0g
https://dl.doubtnut.com/l/_MtsGS0CHJDvB


66. The coordinates of an endpoint of the latusrectum of

the parabola  at its vertex is

A. (0,-3)

B. (0,-1)

C. (0,1)

D. (1,3)

Answer: B

View Text Solution

y2 = 4ax

67. The angle subtended by the double ordinate of length

8a of the parabola  at its vertex is

A. 

y2 = 4ax

π/3

https://dl.doubtnut.com/l/_MtsGS0CHJDvB
https://dl.doubtnut.com/l/_mNEe7b2rTqnA


B. 

C. 

D. 

Answer: C

Watch Video Solution

π/4

π/2

π/6

68. If 2x+y+a=0 is a focal chord of the parabola 

then a =

A. -4

B. 4

C. -2

D. 2

y2 + 8x = 0

https://dl.doubtnut.com/l/_mNEe7b2rTqnA
https://dl.doubtnut.com/l/_C7h5WmyhY0fx


Answer: B

Watch Video Solution

69. PQ is a double ordinate of the parabola  . The

locus of its point of trisection is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 + 4x

9y2 + 4x = 0

4y2 = 9x

9x2 + 4y = 0

9y2 = 4x

https://dl.doubtnut.com/l/_C7h5WmyhY0fx
https://dl.doubtnut.com/l/_miDBpRoZLV3y


70. The ratio in which the line segment joining the points

(4,-6) and (3,1) is divided by the parabola  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4x

: 1
−20 ± √155

11

: 1
−2 ± 2√155

11

−20 ± 2√155: 11

−20 ± √155: 11

71. The number of point of intersection of the circle

 with the parabola  isx2 + y2 = 2ax y2 = x

https://dl.doubtnut.com/l/_ncjZSHBYqNMj
https://dl.doubtnut.com/l/_Smry4yrPey7V


A. 3

B. 1

C. 2

D. 4

Answer: C

Watch Video Solution

72. If  and the line 2bx+3cy+4d =0 passes through the

points of intersection of the parabolas  and 

 then

A.  =0

B.  =0

a ≠ 0

y2 = 4ax

x2 = 4ay

d2 + (2b + 3c)3

d2 + (3b − 2c)2

https://dl.doubtnut.com/l/_Smry4yrPey7V
https://dl.doubtnut.com/l/_Vl9X9C6JDMTc


C. =0

D. 

Answer: A

Watch Video Solution

d2 + (2b − 3c)3

d2 + (3b + 2c)2 = 0

73. Which of the following equations represents a parabola

A. 

B. 

C. 

D. 

Answer: C

(x − y)3 = 3

− = 0
x

y

y

x

+ = 0
x

y

4
x

(x + y)2 + 3 = 0

https://dl.doubtnut.com/l/_Vl9X9C6JDMTc
https://dl.doubtnut.com/l/_UZP6T6JsO4in


Watch Video Solution

74. The equation of the tangent to the parabola 

at (3,-6) is

A. x+y+3=0

B. x+y+1=0

C. x-y+2a=0

D. x+y+1=0

Answer: A

Watch Video Solution

y2 = 12x

https://dl.doubtnut.com/l/_UZP6T6JsO4in
https://dl.doubtnut.com/l/_JBh82zoz8N1S


75. The equation of the tangent to the parabola

 is

A. x+y+3=0

B. x+y+1=0

C. x-y+2a=0

D. x+y+1=0

Answer: D

Watch Video Solution

x2 = 4yat( − 2, 1)

76. The equation of the tangent to the parabola  at

the end of the latus rectum in the fourth quadrant is

y2 = 4x

https://dl.doubtnut.com/l/_wilm8I3r8Jh4
https://dl.doubtnut.com/l/_D7O7TffaXaW7


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y + 3 = 0

x + y + 1 = 0

x − y + 2a = 0

x + y − 1 = 0

77. The equation of the tangent to the parabola 

inclined at  to the x axis is

A. 

B. 

C. 

y2 = 8x

30∘

3x − √3y + 4 = 0

2x − 3y + 14 = 0

2x − √2y + 7 = 0

https://dl.doubtnut.com/l/_D7O7TffaXaW7
https://dl.doubtnut.com/l/_4dFWjE2yOm3Z


D. 

Answer: D

Watch Video Solution

x − √3y + 6 = 0

78. The equation to the normal to the parabola  at

(1,2) is

A. x+y-3=0

B. 

C. 

D. x-y+4=0

Answer: A

y2 = 4x

x − y + 6 = 0

x − y + 5 = 0

https://dl.doubtnut.com/l/_4dFWjE2yOm3Z
https://dl.doubtnut.com/l/_d5oVaujqES1h


Watch Video Solution

79. The equation of the normal to the curve  at (1,2)

is

A. 2x+y+4=0

B. 2x+y-4=0

C. 2x-y+4=0

D. 2x-y-4=0

Answer: B

Watch Video Solution

x2 = 4y

https://dl.doubtnut.com/l/_d5oVaujqES1h
https://dl.doubtnut.com/l/_Gh57Hqi2Y8fC


80. The line x+y= 6 is a normal to the parabola  at

the point

A. 

B. (4,2)

C. (2,4)

D. (3,3)

Answer: C

Watch Video Solution

y2 = 8x

(18, − 12)

81. The equation of the normal at the end of latusrectum in

the fourth quadrant of the parabola  isy2 = 4ax

https://dl.doubtnut.com/l/_XTP5T3hWonA8
https://dl.doubtnut.com/l/_ekkuhHRyokAS


A. x+y+3a=0

B. x+y-3a=0

C. x-y+3a=0

D. x-y-3a=0

Answer: D

Watch Video Solution

82. The equation of the tangent to the parabola 

and which is parallel to the line x-y+3=0 is

A. x-y+2=0

B. x+y-2=0

C. x-y-2=0

y2 = 8x

https://dl.doubtnut.com/l/_ekkuhHRyokAS
https://dl.doubtnut.com/l/_G4DModIdrJX6


D. 2x-y+4=0

Answer: A

Watch Video Solution

83. The equation of the tangent to the parabola 

and perpendicular to the line x-4y-7=0 is

A. 4x+y+1=0

B. 4x+y+7=0

C. 4x+y-1=0

D. 4x+y-7=0

Answer: A

y2 = 16x

https://dl.doubtnut.com/l/_G4DModIdrJX6
https://dl.doubtnut.com/l/_QHAG0WnZUrHy


Watch Video Solution

84. If the line x+y+2 =0 touches the parabola  then

k=

A. 2

B. 8

C. 1

D. 0

Answer: B

Watch Video Solution

y2 = kx

https://dl.doubtnut.com/l/_QHAG0WnZUrHy
https://dl.doubtnut.com/l/_2POoTh4XCFst


85. Find the value of k if the line 2y=5x+k is a tangent to the

parabola 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 6x

2/3

4/5

3/5

6/5

86. If x+y+k=0 is a tangent to the parabola  then k=

A. 1

x2 = 4y

https://dl.doubtnut.com/l/_XOLwY1rlIG49
https://dl.doubtnut.com/l/_yHXCpT9RKYSI


B. 2

C. -1

D. 4

Answer: A

Watch Video Solution

87. The straight line x+y touches the parabola 

then k =

A. 0

B. -1

C. 1

D. none

y = x − x2

https://dl.doubtnut.com/l/_yHXCpT9RKYSI
https://dl.doubtnut.com/l/_P4TMj40dwjX3


Answer: C

Watch Video Solution

88. The line y=2x+k is a normal to the parabola 

then k=

A. 12

B. -12

C. 10

D. -10

Answer: B

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_P4TMj40dwjX3
https://dl.doubtnut.com/l/_Q1og17zapQ3Y


89. The line y=  is a normal to the parabola 

then  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x√2 + λ y2 = 4x

λ

4√2

−4√2

2√2

−2√2

90. Let x+y=k be a normal to the parabola . If p is

the length of the perpendicular from the focus of the

parabola onto this normal then 4k-2  =

y2 = 12x

p2

https://dl.doubtnut.com/l/_uyQQfMwgfONl
https://dl.doubtnut.com/l/_KA2rGZdhuwOB


A. 1

B. 0

C. -1

D. 2

Answer: B

Watch Video Solution

91. The point of contact of 2x-y+2 =0 to the parabola

 is

A. (2,4)

B. (3,4)

C. (1,4)

y2 = 4ax

https://dl.doubtnut.com/l/_KA2rGZdhuwOB
https://dl.doubtnut.com/l/_MANqPI3rki9q


D. (2,1)

Answer: C

Watch Video Solution

92. The point of contact of x-2y+4a=0 to the parabola

 is

A. (4a,4a)

B. (a,4a)

C. (3a,4a)

D. (4a,2a)

Answer: A

y2 = 4ax

https://dl.doubtnut.com/l/_MANqPI3rki9q
https://dl.doubtnut.com/l/_YI0bTELZmCwe


Watch Video Solution

93. The line 4x+6y+9 =0 touches the parabola  at

the point

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

( − 3, 9/4)

(3, − 9/4)

(9/4, − 3)

( − 9/4, − 3)

https://dl.doubtnut.com/l/_YI0bTELZmCwe
https://dl.doubtnut.com/l/_eafxNXQL2sLo


94. The point on the curve  the tangent at which

makes an angle of  with x-axis will be given by

A. (2,4)

B. (1/2,1/2)

C. (1/2,1/4)

D. (1/4,1/2)

Answer: D

Watch Video Solution

y2 = x

45∘

95. The tangent to  makes an angle  with x-axis .

Then its point of contact is

y2 = ax 45∘

https://dl.doubtnut.com/l/_6t1jPjxKKZNe
https://dl.doubtnut.com/l/_v9ydkYSNzt2i


A. (a/2,a/4)

B. (-a/2,a/4)

C. (a/4,a/2)

D. (-a/4,a/2)

Answer: C

Watch Video Solution

96. The condition that the line lx+my+n=0 to touch the

parabola  is

A. 

B. 

C. 

y2 = 4ax

am2 = ln

an2 = Im

a2m = In

https://dl.doubtnut.com/l/_v9ydkYSNzt2i
https://dl.doubtnut.com/l/_F3xDJ7n5keZj


D. am=ln

Answer: A

Watch Video Solution

97. The line y =m(x+a) + a/m touch the parabola

 for m

A. is equal to 0

B. is any positive real number

C. is any negative number

D. is any real number

Answer: D

y2 = 4a(x + a)

https://dl.doubtnut.com/l/_F3xDJ7n5keZj
https://dl.doubtnut.com/l/_5tkStWvpa61e


Watch Video Solution

98. The condition that the line y=mx+c to be a tangent to

the parabola  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4a(x + a)

c = a(m + )
1

a

c = a(m + )
1

m

c = a(m − )
1

m

a = c(m + )
1

m

https://dl.doubtnut.com/l/_5tkStWvpa61e
https://dl.doubtnut.com/l/_toh6QUc28ivc


99. The line among the following that touches the parabola

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

x + my + am3 = 0

x − my + am2 = 0

x + my − am2 = 0

y + mx + am2 = 0

100. The equation of the common tangent to

 isx2 + y2 = 2a2andy2 = 8ax

https://dl.doubtnut.com/l/_xmYL6mjcO6Uv
https://dl.doubtnut.com/l/_vJqMR8e1ioVC


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = ± (x + a)

y = ± (x + 2a)

y = ± (x + 3a)

y = ± (x + 4a)

101. The equation of the common tangent to 

and  is

A. 

B. 

C. 2x+3y+36=0

x2 + y2 = 8

y2 = 16x

y = ± (x + 2)

y = ± (x + 4)

https://dl.doubtnut.com/l/_vJqMR8e1ioVC
https://dl.doubtnut.com/l/_G8auP9v1YUEs


D. 3x+2y+24=0

Answer: B

Watch Video Solution

102. The equation of the common tangent to  and 

 is

A. 

B. 

C. 

D. 

Answer: A

y2 = 8x

x2 + y2 − 12x + 4 = 0

y = ± (x + 2)

y = ± (x + 4)

2x + 3y + 36 = 0

3x + 2y + 24 = 0

https://dl.doubtnut.com/l/_G8auP9v1YUEs
https://dl.doubtnut.com/l/_VfkdzNmHHq8R


Watch Video Solution

103. The sloope of the line touching both the parabolas

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4x and x2 = 32y

1

8

2

3

1

2

3

2

https://dl.doubtnut.com/l/_VfkdzNmHHq8R
https://dl.doubtnut.com/l/_YZ7yqtnYVb9n


104. The points of intersection of the parabolas 

and  lie on the line

A. x+y=10

B. x-2y=0

C. x-y=0

D. 2x-y=0

Answer: C

Watch Video Solution

y2 = 5x

x2 = 5y

105. The two parabolas  and  intersect at a

point P whose abscissae is not zero such that

y2 = 4x x2 = 4y

https://dl.doubtnut.com/l/_enQLvFxPbL6s
https://dl.doubtnut.com/l/_DwIjwdrtwCdP


A. they both touch each other at P

B. they cut at right angles at P

C. the tangents to each curve at P make complementary

angles with the x-axis

D. none

Answer: C

Watch Video Solution

106. If the common tangent of the circle  and

the parabola  subtends an angle  with x -axis

then  =

A. 

x2 + y2 = c2

y2 = 4ax θ

tan2 θ

√c2 + 4a2 − c

2c

https://dl.doubtnut.com/l/_DwIjwdrtwCdP
https://dl.doubtnut.com/l/_P4Aid79hBsJ7


B. 

C. 

D. 

Answer: A

Watch Video Solution

√c2 + 4a2 − c

2

√3c2 + 4a2 − c

2c

√c2 + a2 + 4c
2c

107. The sum of the slopes of the tangents to the parabola

 drawn from the point (-2,3) is

A. -1

B. -2

C. -3/2

D. 2

y2 = 8x

https://dl.doubtnut.com/l/_P4Aid79hBsJ7
https://dl.doubtnut.com/l/_1MOrIaUQsLOe


Answer: C

Watch Video Solution

108. The product of the slopes of the tangents to the

parabola  drawn from the point (2,3) is

A. -1

B. -2

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4x

−3/2

1/2

https://dl.doubtnut.com/l/_1MOrIaUQsLOe
https://dl.doubtnut.com/l/_SDx1lOMVpjWr


109. The slope of tangents drawn from a point (4,10) to the

parabola  are

A. 1/4,3/4

B. 1/4,9/4

C. 1/4,1/3

D. none

Answer: B

Watch Video Solution

y2 = 9x

110. The point of intersection of the tangents at the ends of

latusrectum of the parabola =4xis

https://dl.doubtnut.com/l/_xSHCXzYm1ZXj
https://dl.doubtnut.com/l/_ybRUzM6Sx1Yf


A. (0,0)

B. (0,1)

C. (-1,0)

D. (1,0)

Answer: C

Watch Video Solution

111. The locus of the point of intersection of perpendicular

tangents to the parabola  is

A. x=a

B. x+a=0

C. y=a

y2 = 4ax

https://dl.doubtnut.com/l/_ybRUzM6Sx1Yf
https://dl.doubtnut.com/l/_g60kVxPLZPFF


D. y+a=0

Answer: B

Watch Video Solution

112. If two tangents drawn from a point P to the parabola

 are at right angles then the locus of P is

A. x=1

B. 2x+1=0

C. x=-1

D. 2x-1=0

Answer: C

y2 = 4x

https://dl.doubtnut.com/l/_g60kVxPLZPFF
https://dl.doubtnut.com/l/_4GsDkE4pPDSE


Watch Video Solution

113. The tangents at the ends of a focal chord of a parabola

 intersect on the directrix at an angle of

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4ax

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_4GsDkE4pPDSE
https://dl.doubtnut.com/l/_snBUs3jv2UfA


114. The locus of the point of intersectio of the

perpendicular tangents to the parabola  is

A. y=a

B. y=-a

C. x=a

D. x=-a

Answer: B

Watch Video Solution

x2 = 4ay

115. The locus of the point of intersection of two tangents

to the parabola  which make an angle  with

one another is

y2 = 4ax 30∘

https://dl.doubtnut.com/l/_aoaiMiMqvizM
https://dl.doubtnut.com/l/_dUIOX7oWgkJj


A. 

B. 

C. 

D. x+a=0

Answer: A

View Text Solution

(x + a)2 = 3(y2 − 4ax)

(x − a)2 = y2 − 4ax

3(x + a)2 = y2 − 4ax

116. The locus of the point of intersection of two tangents

to the parabola  which make complementary

angles with the axis of the parabola is

A. x=a

B. x+a=0

y2 = 4ax

https://dl.doubtnut.com/l/_dUIOX7oWgkJj
https://dl.doubtnut.com/l/_19FAZ5bHfEXk


C. y=a

D. y+a=0

Answer: A

Watch Video Solution

117. The locus of the point of intersection of two tangents

to the parabola  which make the angles  and 

with the axis so that  =k is

A. kx-y=0

B. kx-a=0

C. y=ka=0

D. x-ka=0

y2 = 4ax θ1 θ2

tan θ1tan θ2

https://dl.doubtnut.com/l/_19FAZ5bHfEXk
https://dl.doubtnut.com/l/_NbSg2RWgP4Ue


Answer: B

Watch Video Solution

118. The locus of the point of intersection of two tangents

to the parabola  which make the angles  and 

with the axis so that cot  = k is

A. kx-y=0

B. kx-a=0

C. y=ka=0

D. x-ka=0

Answer: C

Watch Video Solution

y2 = 4ax θ1 θ2

θ1 + cot θ2

https://dl.doubtnut.com/l/_NbSg2RWgP4Ue
https://dl.doubtnut.com/l/_i0hQoiZ7pbHQ


119. The locus of the point of intersection of two tangents

to the parabola  which make the angles  and 

with the axis so that  =k is

A. kx-y=0

B. kx-a=0

C. y=ka=0

D. 

Answer: D

Watch Video Solution

y2 = 4ax θ1 θ2

tan θ1tan θ2

kx2 + 2ax − y2 = 0

https://dl.doubtnut.com/l/_i0hQoiZ7pbHQ
https://dl.doubtnut.com/l/_C6rBEOCyKQxx


120. The locus of point of intersection of tangents to

 which includes an angle  is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

y2 = 4ax α

(y2 − 4ax)(x + a)2 = a2x2

(y2 − 4ax)
2
(x − a)2 = d2x2

y2 − 4ax = d2x2(x + a)2

121. Two straight lines are perpendicular to each other. One

of them touches the parabola , and they2 = 4a(x + a)

https://dl.doubtnut.com/l/_tNEoj5cvoOzP
https://dl.doubtnut.com/l/_fjEz3eHywdQg


other touches  Then locus of point of

intersection of two lines is

A. x+a=0

B. x+b=0

C. x+a+b=0

D. x-a-b=0

Answer: C

Watch Video Solution

y2 = 4b(x + b).

122. The locus of the point of intersection of tangents to

the parabola  and  which are

perpendicular to each other is

y2 = 4(x + 1) y2 = 8(x + 2)

https://dl.doubtnut.com/l/_fjEz3eHywdQg
https://dl.doubtnut.com/l/_ffGSJajPVNsb


A. x+7=0

B. x-y=4

C. x+3=0

D. y-x=12

Answer: C

View Text Solution

123. The equation of a tangent to the parabola  is 

 . The point on this line from which the other

tangent to the parabola is perpendicular to the given

tangent is

A. (-1,1)

y2 = 8x

y = x + 2

https://dl.doubtnut.com/l/_ffGSJajPVNsb
https://dl.doubtnut.com/l/_KMrvMNI17HRc


B. (0,2)

C. (2,4)

D. (-2,0)

Answer: D

Watch Video Solution

124. Through the vertex O of the parabola  a

perpendicular is drawn to any tangent meeting it at P and

the parabola at Q. Then OP.OQ=

A. 

B. 

C. 

y2 = 4ax

a2

2a2

3a2

https://dl.doubtnut.com/l/_KMrvMNI17HRc
https://dl.doubtnut.com/l/_9qXQ5nGEnvP0


D. 

Answer: D

View Text Solution

4a2

125. If M is the foot of the perpendicular from a point P on a

parabola to its directix and SPM is an equilateral triangle

where S is the focus then SP=

A. a

B. 2a

C. 3a

D. 4a

https://dl.doubtnut.com/l/_9qXQ5nGEnvP0
https://dl.doubtnut.com/l/_24pzXgIa1X0N


Answer: D

Watch Video Solution

126. If  are the ordinates of two points P and Q on the

parabola and  is the ordinate of the point of intersection

of tangents at P and Q then

A.  are in A.P..

B.  are in A.P

C.  are in G.P

D.  are in G.P

Answer: B

Watch Video Solution

y1, y2

y3

y1, y2, y3

y1, y3, y2

y1, y2, y3

y1, y3, y2

https://dl.doubtnut.com/l/_24pzXgIa1X0N
https://dl.doubtnut.com/l/_6V9TS37rwmar


127. The locus of foot of perpendicular from the focus upon

any tangent to the parabola  is

A.  are in G.P

B.  are in G.P

C.  are in A.P

D.  are in A.P

Answer: B

Watch Video Solution

y2 = 4ax

l1, l2, l3

l2, l1, l3

l3, l1, l2

l3, l2, l1

128. The length of the perpendicular from the focus S of the

parabola  on the tangent at P isy2 = 4ax

https://dl.doubtnut.com/l/_6V9TS37rwmar
https://dl.doubtnut.com/l/_2ZAOmo1kQyz9
https://dl.doubtnut.com/l/_LCWeC2fcaBWC


A. 

B. OS.SP

C. OS+OP

D. none

Answer: A

View Text Solution

√OS. SP

129. The number of tangents to  through (1,2) is

A. 0

B. 1

C. 2

y2 = 2x

https://dl.doubtnut.com/l/_LCWeC2fcaBWC
https://dl.doubtnut.com/l/_zCqSHa75DCO8


D. 3

Answer: C

Watch Video Solution

130. The number of tangents to  through (-1,-1) is

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

y2 = 6x

https://dl.doubtnut.com/l/_zCqSHa75DCO8
https://dl.doubtnut.com/l/_PkTUs0UDFDpr


131. If the ends of a focal chord of the parabola 

are  and  then  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

(x1, y1) (x2, y2) x1x2 + y1y2

a2

−3a2

5a2

−5a2

132. If  and  are the end points of a focal

chord of the parabola , then 

(x1, y1) (x2, y2)

y2 = 5x 4x1x2 + y1y2 =

https://dl.doubtnut.com/l/_PkTUs0UDFDpr
https://dl.doubtnut.com/l/_CAuygeSNsP1Z
https://dl.doubtnut.com/l/_2aelvk7vWf0Q


A. 25

B. 5

C. 0

D. 

Answer: C

Watch Video Solution

5

4

133. The point of intersection of the tangents at  and  to

the parabola  is

A. 

B. 

C. 

t1 t2

y2 = 12x

(2t1, t2, 2[t1 − t2])

(3t1, 3[t1 − t2])

(3t1, t2, 3[t1 − t2])

https://dl.doubtnut.com/l/_2aelvk7vWf0Q
https://dl.doubtnut.com/l/_ZRQGJimyg3bO


D. 

Answer: C

Watch Video Solution

(2t1, t2, 3[t1 − t2])

134. The slope of a chord of the parabola  which is

normal at one end and which subtends a right angle at the

origin is

A. 

B. 

C. 2

D. none

y2 = 4ax

1/√2

√2

https://dl.doubtnut.com/l/_ZRQGJimyg3bO
https://dl.doubtnut.com/l/_knfFtRC57ih3


Answer: B

View Text Solution

135. On the parabola  if one extremity of a focal

chord is  then its other extremity is

A. (2,2)

B. (1/8,-8)

C. (8,1/8)

D. (8,8)

Answer: D

Watch Video Solution

y2 = 8x

(1/2, − 2)

https://dl.doubtnut.com/l/_knfFtRC57ih3
https://dl.doubtnut.com/l/_c5Rk88FNuZbM


136. A focal chord of the parabola  meets it at P

and Q . If S is the focus then  =

A. a

B. 1/a

C. 2a

D. 2/a

Answer: B

View Text Solution

y2 = 4ax

+
1

SP

1

SQ

137. The latusrectum of a parabola whose focal chord is PSQ

such that SP =3 and SQ = 2 is given by

https://dl.doubtnut.com/l/_PmMOIXIwVW0b
https://dl.doubtnut.com/l/_mPKzCj75eT2Q


A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

24/5

12/5

6/5

138. The circle described on any focal chord of a parabola as

diameter touches the

A. axes

B. directrix

C. parabola

https://dl.doubtnut.com/l/_mPKzCj75eT2Q
https://dl.doubtnut.com/l/_eWLjcGynxza7


D. none

Answer: B

View Text Solution

139. The circle on a focal radius as diameter of a parabola

 touches

A. directrix

B. axis

C. tangent at the vertex

D. none

Answer: C

y2 = 4ax

https://dl.doubtnut.com/l/_eWLjcGynxza7
https://dl.doubtnut.com/l/_6jqGYoCoW7Ey


View Text Solution

140. A circle of radius 4 drawn on a chord of the parabola

 as diameter touches the axis of the parabola. Then

the slope of the chord is

A. 

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

y2 = 8x

1/2

3/4

https://dl.doubtnut.com/l/_6jqGYoCoW7Ey
https://dl.doubtnut.com/l/_OjNO89CXxukH


141. The slopes of the focal chords of the parabola

 which are tangents to the circle  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 32x x2 + y2 − 4

,
1

√3

−1

√3

,
1

√15

−1

√15

,
2

√5

−2

√5

,
1

√2

−1

√2

142. The locus of the midpoints of the focal chords of the

parabola  isy2 = 4ax

https://dl.doubtnut.com/l/_uRFuhANpE76y
https://dl.doubtnut.com/l/_MW1ZrB9j670w


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4a sin2 θ

4a cos2 θ

4a cos ec2θ

4a sec2 θ

143. If a chord of the parabola  passes through its

focus and makes an angle  with the X-axis then its length

is

A. 

B. 

y2 = 4x

θ

4 cos2 θ

4 sin2 θ

https://dl.doubtnut.com/l/_MW1ZrB9j670w
https://dl.doubtnut.com/l/_1EpG25w2KhVV


C. 

D. 

Answer: C

Watch Video Solution

4 cos ec2θ

sec2 θ

144. The length of the chord of the parabola 

passing through the vertex and having slope tan  is

A. 

B. 

C. 

D. 

x2 = 4ay

α

4a cos ecα cot α

4a tanα secα

4a cosα cot α

ta sinα tanα

https://dl.doubtnut.com/l/_1EpG25w2KhVV
https://dl.doubtnut.com/l/_oVcy9X60Cb8P


Answer: B

Watch Video Solution

145. In the parabola  the length of the chord

passing through the vertex and inclined to the axis at 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

y2 = 4ax

π/4

4a√2

2a√2

a√2

https://dl.doubtnut.com/l/_oVcy9X60Cb8P
https://dl.doubtnut.com/l/_gc7Or7Lfy8Aw


146. The length of chord intercepted by the parabola

 on the line x+y=5 is

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

y = x2 + 3x

3√26

2√26

6√2

147. If the line y = mx + a meets the parabola  in

two points whose abscissa are  and  then  =0 If

x2 = 4ay

x1 x2 x1 + x2

https://dl.doubtnut.com/l/_B9MKTfDZuBkm
https://dl.doubtnut.com/l/_vxPazqRoiWIQ


A. m=-1

B. m=1

C. m=2

D. m=

Answer: C

Watch Video Solution

−1/2

148. Prove that the portion or the tangent

intercepted,between the point of contact and the directrix

of the parabola  subtends a right angle at its

focuc.

A. 

y2 = 4ax

30∘

https://dl.doubtnut.com/l/_vxPazqRoiWIQ
https://dl.doubtnut.com/l/_uQ9baJwMLatD


B. 

C. 

D. 

Answer: D

Watch Video Solution

45∘

60∘

90∘

149. The subnormal of the parabola  is equal to

A. focus

B. vertex

C. end of the latusrectum

D. none

y2 = 4ax

https://dl.doubtnut.com/l/_uQ9baJwMLatD
https://dl.doubtnut.com/l/_tFM5H8VzOtlV


Answer: A

Watch Video Solution

150. If a normal chord of a puint on the parabola ,

subtends a right angle at the vertex, then t =

A. 4al +n=0

B. 4al+4am +n=0

C. 4am+n=0

D. al+n=0

Answer: A

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_tFM5H8VzOtlV
https://dl.doubtnut.com/l/_oskYSQiHkRXM


151. If the chord y = mx +c subtends a right angle at the

vertex of the parabola  then the value of c is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 4ax

−4am

4am

−2am

2am

152. If P is a point on the parabola  and A is the

point (1,0) then the locus of the midpoint of the line

segment AP is

y2 = 8x

https://dl.doubtnut.com/l/_4vAlCoHlq5aW
https://dl.doubtnut.com/l/_GTZYIa0ok1kF


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 4(x − )
1

2

y2 = 2(2x + 1)

y2 = x −
1

2

y2 = 2x + 1

153. The locus of the point of intersection of two tangents

to the parabola  which make complementary

angles with the axis of the parabola is

A. 

B. 

y2 = 4ax

(y2 − 4ax)(y2 + 4a2) + 4a2l2 = 0

(y2 − 4ax)(y2 + 4a2) − 4a2l2 = 0

https://dl.doubtnut.com/l/_GTZYIa0ok1kF
https://dl.doubtnut.com/l/_BSCwFv2tlE3m


C. 

D. 

Answer: A

Watch Video Solution

(y2 − 4ax)(y2 − 4a2) + 4a2l2 = 0

(y2 − 4ax)(y2 − 4a2) − 4a2l2 = 0

154. The tangents at the points  on

the parabola  are al right angles if

A. 

B. 

C. 

D. 

(at2
1, 2at1), (at2

2, 2at2)

y2 = 4ax

t1 = t2

t1 = − t2

t1t2 = 2

t1t2 = − 1

https://dl.doubtnut.com/l/_BSCwFv2tlE3m
https://dl.doubtnut.com/l/_VtXB8YnxwzBm


Answer: B

Watch Video Solution

155. The tangent to  makes an angle  with x-axis

. Then its point of contact is

A. A.P.

B. G.P.

C. H.P.

D. none

Answer: B

Watch Video Solution

y2 = ax 45∘

https://dl.doubtnut.com/l/_VtXB8YnxwzBm
https://dl.doubtnut.com/l/_4gaX2FesDAeV


156. The tangents at the points  on

the parabola  are al right angles if

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(at2
1, 2at1), (at2

2, 2at2)

y2 = 4ax

t1t2 = − 1

t1t2 = 1

t1t2 = 2

t1t2 = − 2

157. If P  and Q  are two variable

points on the curve  and PQ subtends a right

angle at the vertex then  =

(at2
1, 2at1) (at2

2, 2at2)

y2 = 4ax

t1t2

https://dl.doubtnut.com/l/_UjEmy9NXHCft
https://dl.doubtnut.com/l/_MaEKojW3BDmG


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−1

−2

−3

−4

158. The length of the chord of contact of tangents drawn

from  to the parabola  is

A. 

B. 

C. 

(x1, y1) y2 = 4ax

√(v2
1 − 4ax1)(y2

1 + 4a2)/a

√(y2
1 − 4ax1)/a

√(y2
1 + 4ax1)(y2

1 − 4a2)/a

https://dl.doubtnut.com/l/_MaEKojW3BDmG
https://dl.doubtnut.com/l/_WBXVZuwNLSMc


D. 

Answer: A

View Text Solution

√(y2
1 − 4ax1)(y2

1 − 4a2)/a

159. The area of the triangle formed by the tangents and

chord of contact from  to the parabola  is

A. 

B. 

C. 

D. none

Answer: C

(x1, y2) y2 = 4ax

(y2
1 − 4ax1)

3 / 2

2a(y2
1 − 4ax1)

3 / 2

(y2
1 − 4ax1)

3 / 2

https://dl.doubtnut.com/l/_WBXVZuwNLSMc
https://dl.doubtnut.com/l/_uWJZobfzo6yg


View Text Solution

160. If  and  are the ordinates of the vertices of a

triangle inscribed in the parabola  then its area is

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

y1, y2 y3

y2 = 4ax

(y1 − y2)(y2 − y3)(y3 − y1)
1

2a

(y1 − y2)(y2 − y3)(y3 − y1)
1

4a

(y1 − y2)(y2 − y3)(y3 − y1)
1

8a

https://dl.doubtnut.com/l/_uWJZobfzo6yg
https://dl.doubtnut.com/l/_ntENBfe9ZWhv


161. The area of the triangle inscribed in the parabola

 the ordinates of whose vertices are 1,2 and 4 is

A. 7/2 sq.unit

B. 5/2 sq.unit

C. 3/2 sq.unit

D. 3/4 sq.unit

Answer: D

Watch Video Solution

y2 = 4x

162. The tangents to the parabola  at P  and 

 intersect at R. The area of  PQR is

y2 = 4ax (t1)

Q(t2) Δ

https://dl.doubtnut.com/l/_yBSXRpv5pF0Z
https://dl.doubtnut.com/l/_wz95TErv1nI3


A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

a2(t1 − t2)21

2

a2(t1 − t2)
1

2

a2(t1 − t2)31

2

163. The orthocentre of the triangle formed by three

tangents to the parabola  lies on the

A. axis

B. directrix

C. parabola

y2 = 4ax

https://dl.doubtnut.com/l/_wz95TErv1nI3
https://dl.doubtnut.com/l/_E68y02yH2wwG


D. latus rectum

Answer: B

View Text Solution

164. Prove that the orthocentre of the triangle formed by

any three tangents to a parabola lies on the directrix of the

parabola

A. vertex

B. focus

C. foot of the directrix

D. none

https://dl.doubtnut.com/l/_E68y02yH2wwG
https://dl.doubtnut.com/l/_tLdLrFd4kn9p


Answer: B

Watch Video Solution

165. The feet of the perpendiculars drawn from the focus of

a parabola to the sides of the triangle formed by its

tangents lie on

A. x-axis

B. y-axis

C. directrix

D. tangent at the vertex

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_tLdLrFd4kn9p
https://dl.doubtnut.com/l/_iMvCFK1rU99c


166. If the distances of two points P and Q on the parabola

 from the focus of a parabola are 4 and 9

respectively then the distance of the point of intersection

of tangents at P and Q from the focus is

A. ST

B. 2ST

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

ST 2

2ST 2

https://dl.doubtnut.com/l/_iMvCFK1rU99c
https://dl.doubtnut.com/l/_IX3ZDnr40iUt
https://dl.doubtnut.com/l/_EnIqattFp1qb


167. If the distances of two points P and Q on the parabola

 from the focus of a parabola are 4 and 9

respectively then the distance of the point of intersection

of tangents at P and Q from the focus is

A. 8

B. 6

C. 5

D. 13

Answer: B

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_EnIqattFp1qb


168. If the distances of two points P and Q on the parabola

 from the focus of a parabola are 4 and 9

respectively then the distance of the point of intersection

of tangents at P and Q from the focus is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

y2 = 4ax

∠TSP = ∠TSQ

∠TSP < ∠TSQ

∠TSP > ∠TSQ

https://dl.doubtnut.com/l/_AImD7LnJaimO


169. PSQ is a focal chord of a parabola whose focus is S and

vertex A . PA and QA are produced to meet the directrix in R

and T respectively . Then  =

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∠RST

90∘

60∘

45∘

30∘

170. If L,M,N are the three points on the parabola  = 4ax

whose ordinates are in G.P then the tangents at L and N

y2

https://dl.doubtnut.com/l/_ikplCeft4GXC
https://dl.doubtnut.com/l/_vkQwRoHUXfLo


meet on the

A. parabola

B. abscissa of M

C. ordinate of M

D. none

Answer: B

View Text Solution

171. The equation of the normal to the parabola  at

the point t is

A. 

y2 = 8x

y − x = t + 2t2

https://dl.doubtnut.com/l/_vkQwRoHUXfLo
https://dl.doubtnut.com/l/_Z7xhGAsfFynT


B. 

C. 

D. 

Answer: B

Watch Video Solution

y + tx = 4t + 2t3

x + ty = t + 2t2

y − x = 2t − 3t3

172. The slope of the normal at  of the parabola 

 is

A. 1/t

B. t

C. 

D. 

(at2, 2at)

y2 = 4ax

−t

−1/t

https://dl.doubtnut.com/l/_Z7xhGAsfFynT
https://dl.doubtnut.com/l/_QZlVFqRzw6r7


Answer: C

Watch Video Solution

173. If the normal at  on the parabola  meet it

again at  on the curve then  =

A. t

B. 

C. 

D. none

Answer: C

Watch Video Solution

t1 y2 = 4ax

t2 t1(t1 + t2) + 2

−t − 1/t

−t − 2/t

https://dl.doubtnut.com/l/_QZlVFqRzw6r7
https://dl.doubtnut.com/l/_EsDgeWIgvhsX


174. If the normal at  on the parabola  meet it

again at  on the curve then  =

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

t1 y2 = 4ax

t2 t1(t1 + t2) + 2

t1

t2

175. If the normal at (1,2) on the parabola  meets

the parabola again at the point  then the value of t

is

y2 = 4x

(t2, 2t)

https://dl.doubtnut.com/l/_TNzc0xY2yqm5
https://dl.doubtnut.com/l/_fQukA0oeyJKw


A. 1

B. 3

C. -3

D. 1

Answer: C

Watch Video Solution

176. If the normal to the parabola  at P(1,2) meets

the parabola again in Q then Q=

A. (-6,9)

B. (9,-6)

C. (-9,-6)

y2 = 4x

https://dl.doubtnut.com/l/_fQukA0oeyJKw
https://dl.doubtnut.com/l/_ZrgnGIW8ZvtL


D. (-6,-9)

Answer: B

Watch Video Solution

177. If the normals at the point  and  on 

intersect at the point  on the parabola then  =

A. 1

B. 2

C. 

D. 

Answer: B

t1 t2 y2 = 4ax

t3 t1t2

t3

2t3

https://dl.doubtnut.com/l/_ZrgnGIW8ZvtL
https://dl.doubtnut.com/l/_EwwTfbjvuxFB


View Text Solution

178. The number of normals drawn to the parabola 

from the point (1,0) is

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_EwwTfbjvuxFB
https://dl.doubtnut.com/l/_7eI5z0yXmGFZ


179. The number of normals that can be drawn through

(-1,4) to the parabola  are

A. 4

B. 3

C. 2

D. 1

Answer: D

Watch Video Solution

y2 − 4x + 6y = 0

180. From a point (C, 0) three normals are drawn to the

parabola . Theny2 = x

https://dl.doubtnut.com/l/_LN3bXkfZPT7u
https://dl.doubtnut.com/l/_AzgGsrzvnoEa


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C <
1

2

C =
1

2

C >
1

2

> C >
1

2

1

4

181. If the tangents and normals at the extremities of a focal

chord of a parabola intersect at  and 

respctively then

A. 

B. 

(x1, y1) (x2, y2)

x1 = x2

x1 = y2

https://dl.doubtnut.com/l/_AzgGsrzvnoEa
https://dl.doubtnut.com/l/_Ub7NC8UH7hyq


C. 

D. 

Answer: C

View Text Solution

y1 = y2

x2 = y1

182. The normals at three points P,Q,R of the parabola

 meet in (h.k) . The centroid of triangle PQR lies on

A. x=0

B. y=0

C. x=-0

D. y=a

y2 = 4ax

https://dl.doubtnut.com/l/_Ub7NC8UH7hyq
https://dl.doubtnut.com/l/_zq5ahLqdrWmP


Answer: B

View Text Solution

183. The ordinate of the centroid of the triangle formed by

conormal points on the parabola  is

A. 4

B. 0

C. 2

D. 1

Answer: B

View Text Solution

y2 = 4ax

https://dl.doubtnut.com/l/_zq5ahLqdrWmP
https://dl.doubtnut.com/l/_TRhaKbHF7N1n


184. The normals at two points P and Q of a parabola

 meet at  on the parabola. Then  =

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

y2 = 4ax (x1, y1) PQ2

(x1 + 4a)(x1 + 8a)

(x1 + 4a)(x1 − 8a)

(x1 − 4a)(x1 + 8a)

(x1 − 4a)(x1 − 8a)

185. If a normal subtends a right angle at the vertex of a

parabola  then its length isy2 = 4ax

https://dl.doubtnut.com/l/_YVXIGHPZtm2t
https://dl.doubtnut.com/l/_QN4AoYlc2YVa


A.  a

B. 

C. a

D. 

Answer: C

Watch Video Solution

√5

3√5a

6√3

7√5a

186. If  is the inclination of a tangent to the parabola

 then the distance be tween the tangent and a

parallel normal is

A. a cosec  sec 

B. a cosec 

α

y2 = 4ax

α α

α sec2 α

https://dl.doubtnut.com/l/_QN4AoYlc2YVa
https://dl.doubtnut.com/l/_LttgWgTsvBtV


C. a  sec 

D. a 

Answer: D

View Text Solution

cos ec2α α

cos ec2α sec2 α

187. The length of the normal chord drawn at one end of

the latus rectum of  is

A.  a

B. a

C. 

D. a

y2 = 4ax

2√2

4√2

8√2a

10√2

https://dl.doubtnut.com/l/_LttgWgTsvBtV
https://dl.doubtnut.com/l/_sf3maIb3Teej


Answer: C

View Text Solution

188. The locus of apoint that divides chords of slope 2 of the

parabola  internally in the ratio  is a parabola .

Then the vertex is

A. (2/9,8/9)

B. (3/7,5/7)

C. 

D. (1/9,4/9)

Answer: A

View Text Solution

y2 = 4x 1: 2

( − 2/9, 8/9)

https://dl.doubtnut.com/l/_sf3maIb3Teej
https://dl.doubtnut.com/l/_OvEWmkWRa4BO


189. Let O be the vertex and Q be any point on the parabola

. If the point P divides the line segment OQ

internally in the ratio 1: 3 then the locus of P is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

, x2 = 8y

x2 = y

y2 = x

y2 = 2x

x2 = 2y

https://dl.doubtnut.com/l/_OvEWmkWRa4BO
https://dl.doubtnut.com/l/_hjZ9sIzLWdoy


190. If a normal chord of a puint on the parabola ,

subtends a right angle at the vertex, then t =

A. 4

B. 2

C. 1

D. 3

Answer: B

Watch Video Solution

y2 = 4ax

191. If a normal subtends a right angle at the vertex of a

parabola  then its length isy2 = 4ax

https://dl.doubtnut.com/l/_rjIU65MbDQdK
https://dl.doubtnut.com/l/_73lIetQ2FSE3


A. 

B. 2

C. 

D. 3

Answer: A

Watch Video Solution

√2

√3

192. The normal at 'P' cuts the axis of the parabola

 in G and S is the focus of the parabola. If 

is equilateral then each side is of length.

A. SP

B. 2SP

y2 = 4ax ΔSPG

https://dl.doubtnut.com/l/_73lIetQ2FSE3
https://dl.doubtnut.com/l/_rr6ryGA72r5M


C.  SP

D. none

Answer: A

Watch Video Solution

1

2

193. The circle passing through three conormal points also

passes through

A. vertex

B. foot of the directrix

C. focus

D. none

https://dl.doubtnut.com/l/_rr6ryGA72r5M
https://dl.doubtnut.com/l/_I3ib0jQmntBT


Answer: A

View Text Solution

194. The normal at 'P' cuts the axis of the parabola

 in G and S is the focus of the parabola. If 

is equilateral then each side is of length.

A. a

B. 2a

C. 3a

D. 4a

Answer: D

Watch Video Solution

y2 = 4ax ΔSPG

https://dl.doubtnut.com/l/_I3ib0jQmntBT
https://dl.doubtnut.com/l/_aiYLJ8jOdRIj


195. If the normals at two points on the parabola 

intersect on the parabola then the product of the abscissac

is

A. 

B. 

C. 2a

D. 

Answer: A

Watch Video Solution

y2 = 4ax

4a2

−4a2

4a4

https://dl.doubtnut.com/l/_aiYLJ8jOdRIj
https://dl.doubtnut.com/l/_XHmaeOw9s9Gf


196. If the normals at two points on the parabola intersects

on the curve then the product of the ordinates of the

points is

A. 8a

B. 

C. 

D. 

Answer: B

View Text Solution

8a2

8a3

8a4

197. The locus of the point of intersection of perpendicular

tangents to the parabola  isy2 = 4ax

https://dl.doubtnut.com/l/_ou2lGlZhLEEW
https://dl.doubtnut.com/l/_OwG7KHPTHTpE


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = a(x − 3a)

y2 = a(x + 3a)

y2 = a(x + 2a)

y2 = a(x − 2a)

198. The three normals from a point to the parabola

 cut the axes in points whose distance from vertex

are in in A.R then the loous of the point is

A. 27a

B. 27a

y2 = 4ax

y2 = 2(x − 2a)3

y3 = 2(x − 2a)2

https://dl.doubtnut.com/l/_OwG7KHPTHTpE
https://dl.doubtnut.com/l/_5pGhFm4XDAJy


C. 9a

D. 9a

Answer: A

View Text Solution

y2 = 2(x − 2a)3

y3 = 2(x − 2a)2

199. If the normals from any point to the parabola 

cuts the line y=2 in points whose abscissae are in A.P., then

the slope of the tangents at the 3 conormal points are in

A. AP

B. GP

C. HP

D. none

x2 = 4y

https://dl.doubtnut.com/l/_5pGhFm4XDAJy
https://dl.doubtnut.com/l/_qAxiSl90pIhV


Answer: A

View Text Solution

200. If a circle cuts the parabola  in four points

then the algebraic sum of ordinates of the four points is

A. 0

B. 1

C. -1

D. none

Answer: A

View Text Solution

y2 = 4ax

https://dl.doubtnut.com/l/_qAxiSl90pIhV
https://dl.doubtnut.com/l/_Xl8hxBRuqtEI


201. The feet of the normals to  from the point

(6a,0) are

A. (0,0)

B. (4a,4a)

C. (4a,-4a)

D. (0,0),(4a,4a),(4a,-4a)

Answer: D

Watch Video Solution

y2 = 4ax

202. If P(-3, 2) is one end of focal chord PQ of the parabola

 then slope of the normal at Q isy2 + 4x + 4y = 0

https://dl.doubtnut.com/l/_aJJobn3etAZl
https://dl.doubtnut.com/l/_DJwYDmbZqHXI


A. 

B. 2

C. 

D. -2

Answer: A

Watch Video Solution

( − 1/2)

1/2

203. The normal at a point P on the parabola  cuts

the curve again at Q . If M is the midpoint of PQ then the

product of the ordinates of P and M is

A. 

B. 

y2 = 4ax

a2

2a2

https://dl.doubtnut.com/l/_DJwYDmbZqHXI
https://dl.doubtnut.com/l/_Hlc112EGxkON


C. 

D. 

Answer: D

View Text Solution

4a2

−4a2

204. The subnormal of the parabola  is equal to

A. latus rectum

B. semi latus rectum

C. 2(latus rectum )

D. none

Answer: B

y2 = 4ax

https://dl.doubtnut.com/l/_Hlc112EGxkON
https://dl.doubtnut.com/l/_WKHyK5xdvmEH


Watch Video Solution

205. The length of the subnomal to the curve  is

A. p

B. p/2

C. 2p

D. 4p

Answer: A

Watch Video Solution

y2 = 2px

206. If P is a point on the parabola  such that the

subtangent and subnormal at p are equal then the

y2 = 4ax

https://dl.doubtnut.com/l/_WKHyK5xdvmEH
https://dl.doubtnut.com/l/_PjGr6gR65Hss
https://dl.doubtnut.com/l/_LhaP9wi5wbZx


coordinates of P are

A. (a,2a) or (a,-2a)

B. (2a,2

C. 

D. none

Answer: A

View Text Solution

√2a)

(4a, − 4a) or (4a, 4a)

207. If  is a focal chord of a parabola  and SL

is its semi latusrectum then SP SL and  are in

A. A.P.

PSP 1 y2 = 4ax

SP 1

https://dl.doubtnut.com/l/_LhaP9wi5wbZx
https://dl.doubtnut.com/l/_YT3Y2oq0XpIJ


B. H.P

C. G.P

D. none of these

Answer: B

Watch Video Solution

208. An arch is in the shape of a parabola whose axis is

vertically downwords and measures 24 mts across its

boltom on the ground. Its highest point is 24 mts. The

measure of the horizontal beam across its cross section at

a height or 18 mts is

A. 50 mt

https://dl.doubtnut.com/l/_YT3Y2oq0XpIJ
https://dl.doubtnut.com/l/_lV6S7fWHPlGO


B. 40 mt

C. 45 mt

D. 55 mt

Answer: B

Watch Video Solution

209. The points on  which is closest to the

line y=3x-3 is

A. (2,8)

B. (2,-8)

C. (-2,8)

D. (-2,-8)

y = x2 + 7x + 2

https://dl.doubtnut.com/l/_lV6S7fWHPlGO
https://dl.doubtnut.com/l/_KaQ7IXkZNhRB


Answer: D

Watch Video Solution

210. Let P be the point on the parabola  which is at

a minimum distance from the centre C of the circle

 =1 . Then the equation of the circle passing

through C and having its centre at P is

A. 

B. 

C. 

D. 

Answer: A

y2 = 8x

x2 + (y + 6)2

x2 + y2 − 4x + 8y + 12 = 0

x2 + y2 − x + 4y − 12 = 0

x2 + y2 − + 2y − 24 = 0
x

4

x2 + y2 − 4x + 9y + 18 = 0

https://dl.doubtnut.com/l/_KaQ7IXkZNhRB
https://dl.doubtnut.com/l/_z3jEMsmFirqb


Exercise 1 B

View Text Solution

1. The chord of contact of (2,1) w.r.t the parabola  = y is

A. x+4y+3=0

B. 2x-3y+4=0

C. 3x+2y+4=0

D. 4x-y-1=0

Answer: D

Watch Video Solution

x2

https://dl.doubtnut.com/l/_z3jEMsmFirqb
https://dl.doubtnut.com/l/_Qz7QIkgySqJN
https://dl.doubtnut.com/l/_FQBPkTxHrFNZ


2. The polar of (-2,3) w.r.t the parabola  is

A. 2x-3y-4=0

B. 2x-y-2=0

C. 3x-y+4=0

D. 5x-4y+24=0

Answer: A

Watch Video Solution

y2 = 4x

3. The polar of (a,0) w.r.t the parabola  is

A. x=a

B. x+a=0

y2 = 4ax

https://dl.doubtnut.com/l/_FQBPkTxHrFNZ
https://dl.doubtnut.com/l/_dNEfCapv5TaG


C. y=a

D. y+a=0

Answer: B

Watch Video Solution

4. The pole of the line 2x+3y-4 =0 with respect to the

parabola  is

A. (2,3)

B. (-2,-3)

C. (1,1)

D. (2,-3)

y2 = 4x

https://dl.doubtnut.com/l/_dNEfCapv5TaG
https://dl.doubtnut.com/l/_qJ4Ezu323pCQ


Answer: B

Watch Video Solution

5. The pole of the straight lien x-2y+4 =0 with respect to the

parabola  is

A. (4,6)

B. (-4,6)

C. (4,-6)

D. (-4,-6)

Answer: A

Watch Video Solution

y2 = 6x

https://dl.doubtnut.com/l/_qJ4Ezu323pCQ
https://dl.doubtnut.com/l/_QlZygKUD6EQI


6. The pole of the line 3x+4y-4=0 w.r.t parabola  is

A. (3/2,1)

B. (3/2,-1)

C. (-3/2,1)

D. (-3/2,-1)

Answer: D

Watch Video Solution

x2 = 4y

7. The points (3,-2) ,(1,-2) are conjugate w.r.t. the parabola

A. 

B. 

y2 = 2x

y2 = 4x

https://dl.doubtnut.com/l/_rfAY04zva6R5
https://dl.doubtnut.com/l/_bSvnMcNVYW7L


C. 

D. none

Answer: A

Watch Video Solution

y2 = 8x

8. The lines 3x+2y-1=0, 2x-y-2 =0 are conjugate w.r.t the

parabola

A. 

B. 

C. 

D. none

y2 = 8x

y2 = x

y2 = 2x

https://dl.doubtnut.com/l/_bSvnMcNVYW7L
https://dl.doubtnut.com/l/_saJ3ZyUxMQRG


Answer: A

Watch Video Solution

9. If the points (2,4) ,(k,6) are conjugate with respect to the

parabola  then k =

A. 10

B. 

C. -12

D. -2

Answer: A

Watch Video Solution

y2 = 4x

7/2

https://dl.doubtnut.com/l/_saJ3ZyUxMQRG
https://dl.doubtnut.com/l/_HZRNBp44nx1o


10. If the lines 2x+3y+12 =0 and x-y+k =0 are conjugate with

respect to the parabola  then k=

A. 10

B. 

C. -12

D. -2

Answer: C

Watch Video Solution

y2 = 8x

7/2

11. If the lines 2x+3y+12 =0 and x-y+4k=0 are conjugate with

respect to the parabola  then the value of k isy2 = 8x

https://dl.doubtnut.com/l/_34Yd5gTc5GWV
https://dl.doubtnut.com/l/_0ZsPZdZGi4n2


A. -3

B. 3

C. 2

D. -2

Answer: A

Watch Video Solution

12. The polar of (-a,-2a) w.r.t the circle

 touches the parabola

A. 

B. 

C. 

x2 + y2 − 2ax − 3a2 = 0

y2 = 4ax

y2 = 6ax

x2 = 4ax

https://dl.doubtnut.com/l/_0ZsPZdZGi4n2
https://dl.doubtnut.com/l/_pwyEqWcqbDTu


D. 

Answer: A

Watch Video Solution

y2 = ax

13. The locus of poles of tangents of the parabola 

w.r.t the parabola  is

A. 

B. 

C. 

D. none

Answer: C

y2 = 4ax

y2 = 4bx

ax2 = 4b2y

ax = 4b2y2

ay2 = 4b2x

https://dl.doubtnut.com/l/_pwyEqWcqbDTu
https://dl.doubtnut.com/l/_IbCMypKz6XdA


View Text Solution

14. If the polar of a point P w.r.t the circle 

touches the parabola  then the locus of P is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = a2

y2 = 4ax

y2 = ax

y2 + ax = 0

y2 = 2ax

y2 + 2ax = 0

https://dl.doubtnut.com/l/_IbCMypKz6XdA
https://dl.doubtnut.com/l/_90damCntuB5Q


15. The locus of the midpoints of the focal chords of the

parabola  is

A. x+a=0

B. x+2a=0

C. x+3a=0

D. x+4a=0

Answer: D

Watch Video Solution

y2 = 4ax

16. If the polar of a point P w.r.t the circle 

touches the parabola  then the locus of P is

x2 + y2 = a2

y2 = 4ax

https://dl.doubtnut.com/l/_TpcvZXw77Q0Y
https://dl.doubtnut.com/l/_EVgyGNEaaKPm


A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

x2 − y2 = 4a2

x2 − y2 = 2a2

x2 − y2 = a2

17. The chord of contact of a point P to the parabola

 touch the circle  . The locus of P is

A. 

B. 

C. 

y2 = 4ax x2 + y2 = r2

4a2x2 = r2(y2 + 4a2)

a2x2 = 2r2(y2 − 4a2)

2a2x2 = 2r2(y2 + 2a2)

https://dl.doubtnut.com/l/_EVgyGNEaaKPm
https://dl.doubtnut.com/l/_E8dAmhoVSbJG


D. 

Answer: A

View Text Solution

4a2x2 = r2(y2 + 4a2)

18. The locus of the point for which the chord of contact

w.r.t  subtends a right angle at the vertex of the

parabola is

A. x+2a=0

B. x+4a=0

C. y+2a=0

D. y+4a=0

y2 = 4ax

https://dl.doubtnut.com/l/_E8dAmhoVSbJG
https://dl.doubtnut.com/l/_GOK6JON4ZLdn


Answer: B

View Text Solution

19. The locus of poles of chords of the parabola 

which are at a constant distance d from the vertex is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

y2 = 4ax

d2x2 + 4a2(d2 − y2) = 0

d2y2 + 4a2(d2 − x2) = 0

d2y2 + 2a2(3d2 − 2x2) = 0

x2 + 2a2(d2 + 2x2) = 0

https://dl.doubtnut.com/l/_GOK6JON4ZLdn
https://dl.doubtnut.com/l/_Mnq86dzxow46


20. A chord of the parabola  =4ax subtends a right angle

at the vertex. The tangents at the extremeties of the chord

intersect on

A. x+a=0

B. x+2a=0

C. x+4a=0

D. none

Answer: C

View Text Solution

y2

21. The equation of the chord of the parabola 

having (1,1) as its midpoint is

y2 = 2x

https://dl.doubtnut.com/l/_DqP67htuxmZB
https://dl.doubtnut.com/l/_cl3mNZKYXsv0


A. x+y=0

B. x-y=0

C. x-y+1=0

D. 2x-y=0

Answer: B

Watch Video Solution

22. The midpoint of the chord 2x-y-2=0 of the parabola

 is

A. (1,0)

B. (2,2)

C. (3,4)

y2 = 8x

https://dl.doubtnut.com/l/_cl3mNZKYXsv0
https://dl.doubtnut.com/l/_4shRarLuRtby


D. (0,-2)

Answer: B

Watch Video Solution

23. The tangent at the point P (  to the parabola 

 meets the parabola  at Q and R

then the midpoint of QR is

A. (2,4)

B. (4,2)

C. (7,9)

D. none

x1, y1)

y2 = 4ax y2 = 4a(x + b)

https://dl.doubtnut.com/l/_4shRarLuRtby
https://dl.doubtnut.com/l/_ynUyfoEzRwhg


Answer: A

View Text Solution

24. If the tangent at the point P (2,4) to the parabola

 meets the parabola  at Q and R then

the midpoint of QR is

A. (2,4)

B. (4,2)

C. (7,9)

D. none

Answer: A

View Text Solution

y2 = 8x y2 = 8x + 5

https://dl.doubtnut.com/l/_ynUyfoEzRwhg
https://dl.doubtnut.com/l/_0vLhSmwFYDSA


25. The locus of the midpoints of the focal chords of the

parabola  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

y2 = 8ax

y2 = 4ax

y2 = 2ax

y2 = ax

26. Let O be the origin and A be a point on the curve

. Then the locus of the midpoint of OA isy2 = 4x

https://dl.doubtnut.com/l/_0vLhSmwFYDSA
https://dl.doubtnut.com/l/_IdJHROtqdd4N
https://dl.doubtnut.com/l/_0gU15utISyep


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 = 4y

x2 = 2y

y2 = 16x

y2 = 2x

27. The locus of the midpoints of the focal chords of the

parabola  is

A. 

B. 

C. 

y2 = 4ax

y2 = 2a(x + a)

y2 = 2a(x − a)

y2 = a(2x + a)

https://dl.doubtnut.com/l/_0gU15utISyep
https://dl.doubtnut.com/l/_VbK1b2H27Ap0


D. 

Answer: B

Watch Video Solution

y2 = a(2x − a)

28. The locus of the midpoints of the focal chords of the

parabola  which pass through a fixed point (9,5) is

A. 

B. 

C. 

D. 

Answer: C

y2 = 6x

y2 + 5y + 3x + 27 = 0

y2 + 5y − 3x + 27 = 0

y2 − 5y − 3x + 27 = 0

y2 − 5y − 3x − 27 = 0

https://dl.doubtnut.com/l/_VbK1b2H27Ap0
https://dl.doubtnut.com/l/_d9rC12l5jUZl


Watch Video Solution

29. The locus of middle points of normal chords of the

parabola  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

y(y + k) = 2a(x + h)

y(y − k) = 2a(x − h)

y(y − h) = 2a(x + h)

y(y + k) = 2a(x − h)

https://dl.doubtnut.com/l/_d9rC12l5jUZl
https://dl.doubtnut.com/l/_miz20j4Z6trl


30. The point of intersection of the tangents of the

parabola  at the extremities of the chord having

(3,4) as its midpoint is

A. (1,4)

B. (-1,4)

C. (1,-4)

D. (-1,-4)

Answer: B

View Text Solution

y2 = 16x

31. The locus of the midpoints of the focal chords of the

parabola  isy2 = 4ax

https://dl.doubtnut.com/l/_eaQMEWYLRNHB
https://dl.doubtnut.com/l/_X2OFxGGZsZjq


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 2a(x + 4a)

y2 = 2a(x − 4a)

y2 = a(x + 2a)

y2 = a(x − 2a)

32. A variable tangent to the parabola  meets the

parabola  +4ax=0 at the points P,Q . The locus of the

middle point of PQ is

A. 

B. 

y2 = 4ax

y2

y2 + 4ax = 0

y2 + 2ax = 0

https://dl.doubtnut.com/l/_X2OFxGGZsZjq
https://dl.doubtnut.com/l/_trXsQ3QfxY6Z


C. 

D. 

Answer: D

View Text Solution

y2 + ax = 0

3y2 + 4ax = 0

33. A tangent to the parabola  =0 meets the

parabola  in P and Q . The locus of the middle

point of PQ is

A. 

B. 

C. 

D. 

y2 + 4bx

y2 = 4ax

y2(2a + b) = 4a2x

y2(2a − b) = 4a2x

y2(2a + b) = 4ax

y2(2a − b) = 4ax

https://dl.doubtnut.com/l/_trXsQ3QfxY6Z
https://dl.doubtnut.com/l/_kVBY92ijNu9C


Answer: A

View Text Solution

34. The locus of midpoints of chords of the parabola

 which touch the circle  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

y2 = 4ax x2 + y2 = a2

(y2 − 2ax)
2

= a2(y2 + 4a2)

(y2 + 2ax)
2

= a2(y2 + 4a2)

(y2 + 2ax)
2

= a2(y2 − 4a2)

(y2 − 2ax)
2

= a2(y2 − 4a2)

https://dl.doubtnut.com/l/_kVBY92ijNu9C
https://dl.doubtnut.com/l/_LNTyIJZADi6s


35. The locus of the midpoints of the chords of the parabola

 which touch the circle  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

y2 = 6x x2 + y2 + 4x − 12 = 0

(y2 − 3x − 6)
2

= 16(y2 + 9)

(x2 − 3y − 16)
2

= 16(y2 + 19)

8(y2 − 3x − 6)
2

= 16(y2 + 9)

2(y2 − 3x − 6)
2

= 16(y2 − 9)

36. The locus of midpoints of chords of the parabola

 which are parallel to line y =mx +c isy2 = 4ax

https://dl.doubtnut.com/l/_me6YtEqg1dZ4
https://dl.doubtnut.com/l/_Rx1cRhvCRZXv


A. x=2a

B. x=2a/m

C. y=2a

D. y=2a/m

Answer: D

Watch Video Solution

37. The tangent at 't' on the parabola  is parallel

to a normal chord then distance between them is

A. a

B. 2a

C. 4a

y2 = 4ax

https://dl.doubtnut.com/l/_Rx1cRhvCRZXv
https://dl.doubtnut.com/l/_6MxXaCxaTKrq


D. 8a

Answer: C

Watch Video Solution

38. An equailateral triangle is inscribed in the parabola

 whose vertex is at the vertex of the parabola . The

length of its side is

A. a

B. a

C. a

D. a

y2 = 4ax

2√3

4√3

8√3

16√3

https://dl.doubtnut.com/l/_6MxXaCxaTKrq
https://dl.doubtnut.com/l/_rnxD6S6kUSQQ


Answer: C

View Text Solution

39. The equation to the pair of tangents drawn from (3,-2)

to the parabola  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

y2 = x

x2 + 8xy + 12y2 + 10x + 24y + 9 = 0

2x2 + 3xy − 22y2 + 15x + 4y + 9 = 0

3x2 + 18xy + 22y2 + 50x + 64y + 19 = 0

x2 − 8xy − 12y2 − 10x − 24y + 9 = 0

https://dl.doubtnut.com/l/_rnxD6S6kUSQQ
https://dl.doubtnut.com/l/_PC4jUWlMrP93


40. The combined equation to the tangents to the parabola

 from an external point A  is

A. 

B. 

C. 

D. none of these

Answer: A

View Text Solution

y2 = 4ax (x1, y1)

(y2 − 4ax)(y2
1 − 4ax1) = (yy1 − 2ax − 2ax1)2

y2 − 4ax = (yy1 − 2ax − 2ax1)2

y2 − 4ax = (yy1 − 2ax)2

41. Two tangents are drawn from a point  to the

curve  If  is the angle between them , then 

 is equal to

( − 2, − 1)

y2 = 4x, α

|tanα|

https://dl.doubtnut.com/l/_8f79BFOj9MPl
https://dl.doubtnut.com/l/_4lywpmaatPWz


A. 3

B. 

C. 1

D. 

Answer: A

Watch Video Solution

1/3

1/2

42. The angle between the tangents to the parabola

 at the points where it intersects with the line x-y-

a= 0 is

A. 

B. 

y2 = 4ax

π/4

π/2

https://dl.doubtnut.com/l/_4lywpmaatPWz
https://dl.doubtnut.com/l/_n3ZxQhar8GPW


C. 

D. 

Answer: B

Watch Video Solution

π/3

π/6

43. The angle between the tangents to the parabola

 at the points where it intersects with the line x-y-

a= 0 is

A. 

B. 

C. 

D. 

y2 = 4ax

π/3

π/4

π/6

π/2

https://dl.doubtnut.com/l/_n3ZxQhar8GPW
https://dl.doubtnut.com/l/_pzADN3wap3hp


Answer: D

Watch Video Solution

44. The angle between the tangents drawn from the origin

to the parabola  is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

y2 = 4a(x − a)

π/6

π/4

π/3

π/2

https://dl.doubtnut.com/l/_pzADN3wap3hp
https://dl.doubtnut.com/l/_hQlxz2Q5NfSc


45. The slope of tangents drawn from a point (4,10) to the

parabola  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 9x

x − y + 1 = 0, x − 2y + 4 = 0

x − y − 1 = 0, 2x − y − 4 = 0

x − 4y + 36 = 0, 9x − 4y + 4 = 0

x + y + 5 = 0, 2x − 2y − 14 = 0

46. Find the angle between tangents drawn from P(2, 3) to

the parabola y2 = 4x

https://dl.doubtnut.com/l/_YFybHKqsTMIF
https://dl.doubtnut.com/l/_588A0ucsMI0y


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y + 1 = 0, x + 2y + 4 = 0

x − y + 1 = 0, x − 2y + 4 = 0

x + y − 1 = 0, x − 2y + 4 = 0

x − y − 1 = 0, 2x − y − 4 = 0

47. The locus of middle points of normal chords of the

parabola  is

A. 

B. 

C. 

y2 = 4ax

+ − x = 2a
y2

2a
4a3

y2

− − x = 2a
y2

2a
4a3

y2

+ − x + 2a
y2

2a
4a3

y2

https://dl.doubtnut.com/l/_588A0ucsMI0y
https://dl.doubtnut.com/l/_9QuUgtTs4jnM


D. 

Answer: A

Watch Video Solution

− − x + 2a
y2

2a
4a3

y2

48. The locus of the middle points of chords of the parabola

which are such that the normals at their extremities meet

on the parabola is

A. 

B. 

C. 

D. 

y2 = 2a(x + 2a)

y2 = 2a(x − 2a)

y2 = a(x + 2a)

y2 = a(x − 2a)

https://dl.doubtnut.com/l/_9QuUgtTs4jnM
https://dl.doubtnut.com/l/_SCJneprPjtuP


Answer: A

View Text Solution

49. The locus of middle points of normal chords of the

parabola  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

(x + 2a)y2 = 4a3

(x + 2a)y2 + 4a3 = 0

(x − 2a)y2 = 4a3

(x − 2a)y2 + 4a3 = 0

https://dl.doubtnut.com/l/_SCJneprPjtuP
https://dl.doubtnut.com/l/_AEOBoFY8NyeQ


Exercise 2 Special Type Questions Set 1

50. The locus of the midpoints of the focal chords of the

parabola  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 4ax

y2 = a(x − a)

y2 = a(x + a)

y2 = 2a(x − a)

y2 = 2a(x + a)

https://dl.doubtnut.com/l/_ACOXHB0WMQIh


1. I : The length of the latus rectum of the parabola

 is 8 . 


II: The focal distance of the point (9,6) on the parabola

 is 12

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: A

Watch Video Solution

y2 + 8x − 2y + 17 = 0

y2 = 4x

https://dl.doubtnut.com/l/_px9402nZu3Gx


2. For the parabola  =0 


I) The vertex is (-2,-3)  The directrix is y +3 =0 

Which of the following is correct ?

A. Both I and II are true

B. I is true II is false

C. I is false ,II is true

D. Both I and II are false

Answer: B

Watch Video Solution

y2 + 6y − 2x + 5

  II)

3. I: If the points (2,-1) , (5,k) are conjugate with respect to

the parabola  then k=7 
x2 = 8y

https://dl.doubtnut.com/l/_sALZdTYNRFyO
https://dl.doubtnut.com/l/_0v0mGfXkXbRj


II : If the lines 2x+3y+12=0 , x-y +k=0 are conjugate with

respect to the parabola  then k =-12

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: B

Watch Video Solution

y2 = 8x

4. I : The locus of the midpoint of chords of the parabola

 which subtends a right angle at the vetex is 

 


y2 = 4ax

y2 = 2a(x − 4a)

https://dl.doubtnut.com/l/_0v0mGfXkXbRj
https://dl.doubtnut.com/l/_jHhPUTNd27js


Exercise 2 Special Type Questions Set 2

II : The locus of midpoint of chords of the parabola

 which touch the circle  is 

 .

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: C

View Text Solution

y2 = 4ax x2 + y2 = a2

(y2 − 2ax)
2

= a2(y2 + 4a2)

https://dl.doubtnut.com/l/_jHhPUTNd27js


1. If the equation of the parabola whose axis is parallel to x-

axis and passing through (2,-1),(6,1),(3,-2) is

 then the ascending order of a,b,c,d

is

A. a,b,c,d

B. b,c,a,d

C. c,a,b,d

D. b,a,c,d

Answer: D

View Text Solution

ay2 + bx + cy + d = 0

https://dl.doubtnut.com/l/_hUFzPGvNr3v2


2. The equation of the directrix of the parabola whose

vertex (3,2) and focus (2,-1) is

A. a,b,c

B. b,c,a

C. c,a,b

D. b,a,c

Answer: C

Watch Video Solution

3. If the line ax+by+c=0 touches both the parabolas

 then the ascending order of a,b,c isy2 = − 32y

https://dl.doubtnut.com/l/_ASHgLIYxuSKy
https://dl.doubtnut.com/l/_a3eIKcwvupTI


A. a,b,c

B. b,c,a

C. c,a,b

D. b,a,c

Answer: D

View Text Solution

4. If the chord of contact of (3,-2) with respect to the

parabola  is ax+by+c =0 then the ascending order of

a,b,c is

A. a,c,b

B. b,c,a

y2 = x

https://dl.doubtnut.com/l/_a3eIKcwvupTI
https://dl.doubtnut.com/l/_carriKdegd56


Exercise 2 Special Type Questions Set 3

C. c,a,b

D. b,a,c

Answer: B

Watch Video Solution

1. Match the following . 

A. a,b,c,d

Parabola      Focus

I. y2 − x − 3y + 2 = 0     (a)(1, 2)

II. y2 − 8x − 4y − 4 = 0     (b)( − 2, 5)

III. x2 + 4x − 8y + 28 = 0     (c)(1, − 1)

IV. x2 − 2x − 8y − 23 = 0     (d)(5/4, 1)

https://dl.doubtnut.com/l/_carriKdegd56
https://dl.doubtnut.com/l/_hUnrwXM3ht4j


B. b,c,a,d

C. d,a,b,c

D. b,d,a,c

Answer: C

View Text Solution

2. Match the following . 

A. a,b,c

B. b,c,a

Point, parabola                 tangent

I. (3, − 6)y2 = 12x           (a)x + y + 1 = 0

II. (2, 4)y2 = 8x           (b)x + y + 3 = 0

III. ( − 2, 1)x2 = 4y           (c)x − y + 2 = 0

https://dl.doubtnut.com/l/_hUnrwXM3ht4j
https://dl.doubtnut.com/l/_LveylO2wMFf4


C. c,a,b

D. b,a,c

Answer: B

Watch Video Solution

3. Match the following 

A. a,b,c,d

B. b,c,a,d

C. d,c,b,a

Point, parabola                 Polar

I. (3, − 2)y2 = x           (a)5x − 4y + 24 = 0

II. (2, 1)x2 = y           (b)2x − 3y − 4 = 0

III. ( − 2, 3)y2 = 4x           (c)4x − y − 1 = 0

IV. (5, − 6)x2 = 8y           (c)x + 4y + 3 = 0

https://dl.doubtnut.com/l/_LveylO2wMFf4
https://dl.doubtnut.com/l/_oR8DrOmcJvUY


D. b,d,a,c

Answer: C

Watch Video Solution

4. Match the following. 

A. a,b,c,d

B. b,c,a,d

C. d,c,b,a

D. b,d,a,c

Line, parabola                   Pole

I. 2x − 3y + 4 = 0 y2 = 4x                (a)(4, 6)

II. 2x + 3y − 4 = 0 y2 = 4x                (b)(2, 3)

III. x − 2y + 4 = 0 y2 = 6x                (c)( − 2, − 3)

IV. 3x + 4y − 4 = 0 x2 = 4y                (d)( − 3/2, − 1)

https://dl.doubtnut.com/l/_oR8DrOmcJvUY
https://dl.doubtnut.com/l/_G3gvRTulSejh


Exercise 2 Special Type Questions Set 4

Answer: B

Watch Video Solution

1. A: The focus of the parabola  is

(-3//2,2) . 

R : The focus of the parabola  is 

.

A. Both A and R are true and R is the correct explanation

of A

B. Both A and R are true but R is not correct explanation

of A

(y − 3)2 = 6(x + 3)

(y − β)2 = ± 4a(x − α)

(α ± a, β)

https://dl.doubtnut.com/l/_G3gvRTulSejh
https://dl.doubtnut.com/l/_CRZMxbmswt4g


C. A is true but R is false

D. A is false but R is true

Answer: D

Watch Video Solution

2. A : The condition that the line x/p+y/q=1 to be a tangent

to the parabola  is ap+  =0. 


R: The condition that the line lx+my+n=0 may touch the

parabola  is  = In

A. Both A and R are true and R is the correct explanation

of A

y2 = 4ax q2

y2 = 4ax am2

https://dl.doubtnut.com/l/_CRZMxbmswt4g
https://dl.doubtnut.com/l/_Lemvdi3sAttf


B. Both A and R are true but R is not correct explanation

of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

3. A : The sum and product of the slopes of the tangents to

the parabola  drawn form the point  are

-3/2,-1 . 

R : If  are the slopes of the tangents of the parabola 

 =4ax through P  then 

 .

y2 = 8x ( − 2, 3)

m1, m2

y2 (x1, y1)

m1 + m2 = y1 /x1, m1m2 = a/x1

https://dl.doubtnut.com/l/_Lemvdi3sAttf
https://dl.doubtnut.com/l/_hMTRfEozHDRk


A. Both A and R are true and R is the correct explanation

of A

B. Both A and R are true but R is not correct explanation

of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

4. Given :A circle  and a parabola 

 

Statement -I : an equation of a common tangent to these

2x2 + 2y2 = 5

y2 = 4√5x.

https://dl.doubtnut.com/l/_hMTRfEozHDRk
https://dl.doubtnut.com/l/_kAxJJJiqcsiN


curves is  

Statement -II - If the line,  is their

common tangent ,then m satisfies 

A. Statement -I is true , statement -II is false

B. Statement -I is false , Statement -II is true

C. Statement -I is true , Statement -II is true ,Statement -

II is a correct explanation for Statement -I

D. Statement -I is true , Statement -II is true ,Statement -

II is not a correct explanation for Statement -I

Answer: D

Watch Video Solution

y = x + √5.

y = mx + (m ≠ 0)
√5

m

m4 − 3m2 + 2 = 0

https://dl.doubtnut.com/l/_kAxJJJiqcsiN

